Slow is to Fast as High is to
choices (a) Light (b) Low
(c) Heavy (d) Top

Complete the Series _-.
(@) 6,9, 13, 16, 20, 23
3,5,10, 12, 24,

(a) Canal
(c) Tank
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1. Analogy Test (rvee 1)

rdanmshrp 1S shovm in the first two objects or ideas. The
jeen the next two objects and ideas. But, in the next two,
oned dther has to be chosen by the candidate out of the three or
R53geest one most suitable choice from his own. Thus, the

su:scolno Gl\ et relatonship existing between the first two objects
the same 10 €Y two. For example:

:Hm:ismmas@» ..........
T (®) Snake

(c) Fish (d) Bird
&mlanunth bctwwn ects i.e., home and man. We find
t 1s of residence znd resi %D&

relationship we should apply to
Nest is the residence of answer (d) is the appropriate

) EXERCISE O
P as ‘fimger' isto ..., Q
®) Ring () Thum ,ps)

Director as magazine is to

.........

---------




W"‘—'—'

As food is to Growth so as knowledge t0 cosseeres
(a) Wealth (b) Peace (¢) Wisdom  (d)° Happiness
8. Handsome¢ is to Beautiful as he is (O c.ivvaees &
(a) Lovely (b) Girl (c) Charming (d) She i i f.
9.  Success is related to Hard work as failure is to ......... th .
(a) Industry (b) Roaming (c) Laziqess (d) . Wastt ofiies pa
10. Pooristo Rich as pauper iS €0 cqavocees : ' ] p .
(a) Wealthy (b) Brave i
(c) Multi-millionare (d) Soldier ' & :
11. Gold is to Ornaments as wood is to v.eeens ‘ L e
(a) Charr (b) Table (c) Decoration (d) Furmture' g
12. Mule is to Pack as Ox iS L0 voreenens o 2 5 et
@ Yoko . B Hoof Lo (6 Necke s uld) Hom.-. s
13. Statute is to Shape as song is €0 ......... : : s B ,' 7
(a) Words (b) Melody = (c) Beauty (@) Fiiriot o8 1 ,Z:--i; A

Listen is to Hear as 00K is 0 .........
Watch

i senvesyen >
:(c) Ear
Food is to Eat as water isto ......... g TS

L
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20.

28.

29.

30.

3l.

32.

33.
34.
35.
36.
37
38.
39.

40,
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Milk is to White as sky is to .........
' Red
(a) Re (b) Green (c) Blue @
Boot is to Foot as glove is to .........
: W '
@) Wool (b) Hand (c) Cotton (d)
Cow is to Calf as mother is to ......... '
(a) Sls.ter (b) Son CF S
Teacher is to Students as doctor is to ........ :
(a) Patients (b) Medicine (c) Hospital (d)
Rich is to Poor as healtlhy.is'to
(a) Weight (b) Height (c) Sick ()
Bird is to Nest as horseisto .........
(a) Mare (b) Ride (b) Tanga (d)
Petal is to Flower as arm is to .........
(@) Toe (b) Body (¢) Skin (d)
Health is to Sickness as happinessis to .........
(a) Sadncss (b) Cheerfulness (c)  Sweetness (d)
Refrigerator is to Cool as oven iSO ..oeeres !
(a)  Bake _ ) Heat ' (¢) Warm (d)
700 is to Animals as aquarium is to e . R B
(a) Bird (b) Animal (c) Fishes (d)
Philosophy is to Philosopher as physics iS €0 convenees
(a)  Physique (b) Physical (c) Psychologist(d)
Paper is to Book as bricks is t0 c..coeees |
(a) Building (b) Cement (¢c) Ground (d)
Mare is to Horse as bitch i§ 10 couresers '
@ Ox (b) * Dog (QuenPie (@
Escort is to Visitor as guide is 10 cooooe ) s 1
(a) Film (6) Child (6) ooz, ()
'N' is to 'P' as 'S is 10 cooeeee””
@ U () T OF @
Flower is to Butterfly a8 dirt is o coeveeees
- Q d
(@) . Mosquito. - (®) #EVY @uBppn
President is related‘ to Republic as king is related t0 «.ccvoees
@ Democracy (V) Dictatorship () Monarchy (d)

Black

Cloth

Husband
Drugs
Stout -
Stable
Hand
Well-bein g |
Cook
Horse
Physicist
Mason
Bear
Student
R

Rat

Anarchy




41. Hotis related to Stream as cold is related to .........

(@) Snow (b) Ice (¢)  Weather (d) Ice-cream
42. DogistoBark ascatisto.........
(a) Bray (b) Mice (¢) Mew (d) Cry
43. Footis to Walk as noseis to ..........
(@) Breath = (b) Smell (c) Work (d) Taste
44. A bird is to Feather as cat is 05 \
(@)  Fur (b) Paws (c) Ears (d) Hair
45. Fanis to Cool as heateristo ......... A
(@)  Heat (b) Warm (c) Electricity (d) Light
46. Man is to Walk astrainisto ......... |
(a) Run (b) Track (c) Move (d) Transport
47. Mountain is to Cold as plainisto ...... . ‘
(@)  Summer “(b)  Winter (c) Water (d) Hot
»48. Apple is to Banangy as carrotisto.........

(a) Radish (b) ‘Peach
Donkey is to Hors dog -

(© Bean ° (g)

------

@) Duplex

i S CV R
—um“‘i B etntd .

k. O (g Paper
DI St 7 i 500 3



(b) Wimnter (c)

&-uomsm-um ........

Peacock (b) King (c)
Ut“auulhw..,,.....

(b) Pit (<)

@ Nosehio

(a) Waler (b) Feood
“ M;..dh»i-th‘a-r mapaper WA .ooviees

(s) Peper n) Readng (¢y Pon
o Hard work js tr s@CCEM 29 treatment B0 ..ol

(s) Mecme (b) Cure (c) Dneease
61. Homey is 1o Bee as milk is 10 ...

(2} Whne (b Hezlth (cy Cow
62 Needieis o Sewas Penis 1o ..o

() Papex (b) Student (c) Pencil
3. Muchisto Moreas hittle s to .........

(z Low (b) Less (c) Below
(*3 F-’r‘uquremHzirism .........

(z) Haur (b) Dare (c) Hare
5. TxhwaTunu.. .......

; (b) Tore (c)y More

Rainfall

(d)

(d)

None of

fcse

Write
v TIC

Down

Hewr

Roar

Peak

Miner

‘Mammals
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75, Under to Below as Apex isto ..., g
(a) | op (h) Middle (c) Aborve (4 ‘””J
76, Smoke is to Pollution as war s to ..., Vie ;
(a)  Defent (hy  Victory (¢) Death 9)  Arroy
77, Newspaper is to Editor as film is (o .....,..
(a)  Actor () Director (¢) Producer (8)  Slory wine
78, Cobbler is to Shoes as masonisto .........
(@)  Wall (b)  Wood (c)y Iron (d) Sitlver
79. Grapes is to Wine as wheatisto ,,......, '
(a)  Bread (b)  Wheat (¢c) Hour (d) Fram
80. Meat is to Vegetarian as liquoristo ,........
(a)  Introvert (b)  Save (c) Teetotaller (d) Irratsonal
Kg"? 7))
X we @/( 7788
| %@%w rs (Wey
2. 3. 6. |mm
> 13. 4. 15.
> : -t 12 132 |b
3¢ 5 c £ d 35. a 36- b 370 c 38- 39. b 40' c
. e —
= 1® 144 1a las b [36 ] 47.|d |48 |4
JeFlt 520 ! b 53- a‘_ 54. b 55. b “. 2
7._.-1 “' b 61. c 62. d 60 'T'—-—____
a 164 | ¢
69' b 10; J 'vc 7' L [ ————
d - 10 172 |
T . - 71;1 b o £33 i Loy 3 B -_.-._.__?
e “n.m i ”’ a | 80. C
_,“ = " X : BT} '_h—-__
‘ ?jﬁrm . » ST
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2. Analogy Tewt

wch sherrs ¢

rds arc given, wh
|| be givens (he CxXaminee bk 4, i
rclalionships can be analy :
arc expressed as beio
y items OF words have purpose

d to be purposely related. ¢ 7

[n this YP¢ of relationship, IWO woO
ther various allornatives wi
lated (wo words. These
nings, ete. Some of them

and ©
ate other 1€ :
\dinons, degrees, med

cor
(A) Purpose relationship - When 1w
analogy 18 sal

;umthcl'.
;IPI““P”

Glove : Ball as

(a) Hook and Fish (b) Weather and Winter

(c) Place and Home (d) Gtadium and Seats

In the above example, the nship of Glove and Ball. The purpose of
love 1s 1O help 1n catching the ball. A similar purpose relationship exists in Hook and

Fish. The purpose of hook 1s to catch the fish. Thus, answer (a) is correct.

(B) Cause and effe y — When two words d in such a manner that

s said to be cause and

re cxists a relatio

ct relationshif are relate
the effect of another, it 1

one 18
effect relationship- For example:
[
W - ) gmoking : Disease

N (@) Rumning - Walking
se \ Mereas the cffee! is fatigu
. <. So, answer (b) is correctss -

SIMO o AN &
When out of the two words expressing some

¢ relationship —

.+ sort of re]ationshipand one W0 fl represents class an
~the other s constituent of the ctass, the relationship 1S
. saidtobe class-constituent relationship. For example:

e. Similar

e W
5 _:; "
ead (b) Removal : Snow
4 ‘..’.u) h
: Hand : Clock ¢

ereon as reptile 18 the
1. So,

| .
&tituent of animal wh

the con
and cow 1s one of the constituent of anima

s type of relationship, two words represent the

igger thing. For example:

) Head : Legs
adio : Clock

‘
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bove example, Lyric and Ode are the types of poems
v

and similarly g
In the a parts of the body. Hence, answer (b) is correct ¥ Head ang
two o 4
Legs are the jonship — In this type of relationship, two events :
fionsnip § OCcur 1n ge -

(E) Sequence Lo For example: Quence,

Spring : Summer as i

(a‘; Sunday : Monday (b)  Thursday : Wednesday

(c) Tuesday : Friday (d) Friday : Monday

In the above example, Summer comes after Spring and in the similar way MOnday
comes after Sunday, so answer (a) is correct.

(F) Place and event relationship — In this type of relationshi
event or monument are expr
certain choices are given, The
the best possible choice. For exa

Badshahi Mosque : Lahore as
(a) Red Square : Moscow (b)
(c) Pakistan : Asia (d)

P, a place and histori
essed and according|
€xaminee has tq

Ch()()sg
mple:

Albany : New York
Pakistan - Bangla Desh
In the above example, Lahore is a place whereas Badshahi Mosque is a place

associated with Lahore. A similar relationship exists between Red Square allﬂ:ﬁioscow
3 '.prG:»Of’rclatit)nshjp, two .ﬁa? "
1ated Wiﬁ'l Oone another and on h

.

Ink : Writing
(d) Book : Pages
‘example, Angel is associated with Noble deeds. Similarly, Ink is
g. Th 7‘ill,t,l.:lfnat_i\:fe (b) is the suitable choice.
nship — In this type of relationship, action is associated with
 the object on which that action can be taken out of the

ous choices given. Candidate has to Select it bed
ible choice. For example:
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and secondly the action performed on the object is given. For example:

Bow : Shooting as
(a) Food : Sell (b) Streak : Broil
(c) Wine: Pour - (d) Bruit: Paper
In the above example, the bow is an object and shooting is an action taken with the
help of bow. Similarly, streak is an object whereas broil is an action taken on streak.
Thus, answer (b) is correct.

(I) Synonym relationship — When one word is synonym of another; the relationship is
said to be synonym relationship out of the various

possible alternative. For example:

Large : Enormous as

(a) Rogue: Roof (b) Dirty : Unclean

(c)  Purse : Kitchen (d) Black : Brown

In the above example, large and enormous both mean huge and in the similar way
dirty and unclean are the same. Thus, alternate (b) is correct.

(J) Antonym relationship — When one word is antonym of another, the re[a_ti]o_nship
L expresseds is known as antonym relationshzﬁ._‘ For

Ll o . pehl PR ST 1D ) A
sar : Misfortune [ |

! ov M ity's Wehemeneey 4 |

. n the above €Xxe mp! s adv v 1S ym -‘ ‘pﬁﬁe#m B‘imigﬁla%f;hlpi -

lies with serenity and vehemence. Thus, (d) alternative is correct. ot

(K) MWW hip — When two items are different stages of a particular

By

~ behaviour, the relationship is said to be degree or stage

-
~ relationship. For example:

2

(b) Black : White
-+ (d) Bright: Genuine
first stage of woman. Similarly infant is the first

two nouns, two_adverbs, etc. are
ive choice also the same type of
1ssociation is known as

wo verbs,
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and secondly the action pel

Bow : Shooting as

(a) Food : Sell

(c) Wine: Pour

In the above example, the
help of bow. Similarly, strealk
Thus, answer (b) 1s correct. =

() Synonym relationship

Large : Enormous as
(a) Rogue : Roof
(c) Purse : Kitchen

In the above exampley
dirty and unclean are the sa

(J) __Antonym relationshig

Adversity : 'Happ
(@) Boldness : Vi
(c) ~ Balance : Ad
In the above examg
lies with serenity and ve
(K) Degree or stage. e

Girl : Woman 2
(a) Student: ¥
(c) Infant: ',
In the above exé
stage of child. Thus, @&
(L) Grammatical

Walk : Climb
(a) . Garde
(c) Run:§
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In the above example, wallg
and see are both verbs. Thus, ans¥

Direction:

In cach of the following @
same relationship as 1s found 8

correct answer and put a cross in
1. Bread : Cake as
(a) Pot: Pan

(c) Wheat : Chaff

L.ahore : Punjab as A
(a)  Pakistan : Hyderaba
(c)  Peshawar: Khyber:
Blacksmith : Hammer a$

(a) Soldier : Gun

(c) _Gaipenter ESaw

;waromcter : Hydromete
. ‘,‘Mercury : Wateig :

(c)" .TI:_r__.cs_sure - Humidid
M arrihﬁ’e *Celebrated
(a)  Defeat : Failure _'
(¢c) Gloom : Despais
January : Winter
(a)  June: Summer}
(c) Spring : Septemé
Family : Child as

(a)  Pound : Dollar
(c) Bunch : Flower®
Inexperience : Errors
(a) Carelessness ; B
(c) Dispute:S
Problem : Hypot

(a) Blunder :

(¢)  Frugahty:




22. Picture: Frame as

zw'
b

. L
D ; e % ' Tests$~L
% s Unique up-to damr lnﬂl@gﬂ?fﬂ ‘
Restrict : Encourage as ik
(a) Loss: Despair (b) Profit :.Eﬁorts_
(¢) Close : Open ' (d) End : Finish

Lawyer : Court as ;

(a)  Business : Market | (b) = Labourer :,Fact_gry

(¢)  Athletic : Olympics (d) Cow : Herd '
Propensity : Tendency as i :

(a)  Prologue : Epilogue (b) Master: Slave

(c)  Conduct : Immorality (d)  Audicity : Impudence
Brain : Neurology as : ; =
(a)  Body : Physiology ' ~(b) Ehtomology : Plants
(c) Biology : Animal ' - (d) Botany-: Plants '

Mundane : Common as
(a) Car: Cycle
Water : Oxygen
Longitude as

(b)  Ubiquitous : Ommpresent 4
(d) Fear: Mlsfortunc‘ :

Corpulent : Skinny as

(a) Courage : Lion S (b) Tea: Kettle Pt 4. | i »
"(¢) Copious : Insufficient (d) Genius.: Inl‘e]ligeﬁqe X i 5 i
Dire : Grim as , . , : . ,

(a) Talking : Gossips | (a) Lead:Pencil i',i";"

(c)  Punitive : Miniature s ey D:abohc chked B
i d g jt'lt' ;.‘

Rotate : Gyrate as : - S : e

(a)  Purity : Rejeet (b) _Accdla;&e“'_'éi‘ icism
(c) Move: Frecwhecl ; " MR Absolve:—
Correspondence : Clerk as = Al

(a) Office: Manager

(c) Secretary: Stﬁmographer

g S04

qu

(a) Book: Cov?

' '4-.-11’ 1 | :
B ;»(G) Cup_,Sl*gfr - it m g

-'ﬁ-ﬁv.:m‘l
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Bacteria : Illness as
Milk : Curd
Health ; Illness

Room : House as
Chair : Table
Refrigerator : Kit@

Projectile : Trajectoryl
Bullet : Weapon .

(c) Satellite : Orbiti§

Sorrow : Death as

(a) Laugh : Cry

(c) Hate : Smell

Setting : Stone as

(a) Pen: Writing®

(c) Socket : Bulb

€ancasian : Saxon§

(@) \Carriage : Ho

(c)® 'Fearf:D k

Debate : Solile

(a) Telephon

(cyElucidate

Tepid : Hot as §

(a) Topic: Tus

(c) Pat: Slap

Mace : Majesty

(a) Book:

(c) Police : 8

Vixon : Scold

(a) Bee : Stil

(C) Army:

Cloth : Texture a§

(a) Wool : Terele

(c) Linen : Flax

Forecast : Happen

(a) Elucidate : E

(c)  Analyze : Prof




(a

(c) Frog : Fish
Cat : Feline as
(a) Bird: Vulpine
- (¢) Bird: Vulture
_~'f Finger : Hand as
~ (a) Medicine : Tablets
. (0) Toe : Foot [ aoatf
. Adversity : Happiness as

-
() Nature: Creator -

' il
5. Octave : Binding as

o o e N

''''''

Fear : Danger 17§

@) Pwa Printing s 6! N:, Ad it
G) Day Weﬁmi ! i, i-i.' B

|35, Family : Child as
(a) Baby : Father (b)
1 (¢)  Husband : Wife ~(d)
- 36. Future : Hereafter as
'. (@)  Recapitulation : Repetition (b)
] (¢)  Tomorrow : Yesterday (d)
37. Court : Justice as '
: (@  Doctor : Hospital : (b)
F_ ~ (c) Police : Government (d)
38. Necklace : Adornment as
(a) Window : House ~(b)
(c)  Medal : Decoration (d)
School : Discipline as '
(@  School : Discipline - (b
Marks : Examinati (@

(@)

‘Rat : Rabbit -

¥ Street Hdugej‘

Bird : Flock
Octopus : Tentacle

Present : Past
Prognosis : Diagnosis

Auditor : Accuracy
Boss : Executive -

Bronze : Medal
Scarf : Dress

Undertrial : Punishment
Society : Conformity

Horse: Equine

Apple: Cart



Rusticity : Urbanity as
(a)  Silk: Wool
(b)  Television : Video!

Famine : Hunger as
(a)  Fall : stream
(¢)  Stupidity : Allurel
Fuel : Fire as '
(a) Cold : Heat

(c)  Fire: Forest
Hare : Tottoisé as
(a) Truth : Lie

(c) Telegram : Letfl
Skeleton : Body as
(a) Letter : Conten
(¢) Printer : Pres§
Ointment : Burn g
(1)  Bread, Buii
(c) Tc'é.h‘__'g Cohsg
Fiber : Fabrie

(a) Avc‘rag

(¢) Member: ,
Hourglass : Clog

(a) Catapult 4
(c) Acom:
Lusf : Sex as

(a) Friend : B

(c) Dark : Bt

Pup : i

(a)

(c)

Sod

(a)

(c)

Tree

(a)

(a)
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‘Possess : Loss as

(@)  Hesitate : Advance ' (b). _Cease:Recur . .
(€)  Continue : Desist (d)  Production : Suppb"v
Apprentice : Mechanic as _ ' _ ‘ o

(@)  Doctor : Inkern (b) Painter: Ams't L
(a).  Novice : Nun - (d) Layman: O

.
d203.c4csb6.a_7d16‘a1
10. | ¢ |1 c |12.| a |13.| d |14 | a 15.,bv‘24-” :
.l b |18 | ¢ |19.| ¢ [20.] d |21.] b [22.] a |23 .'.b]
5 d [27.] b | 4. | d [30.| ¢ [31.| b |32
3 3 c |3
1 5 b
9
v c | 58, - c c
' Ry
il {18 e .Q "-'EJ‘"'Z. et
= .J‘; vqi ‘(qimmrf-:. ’
i1 2 l }i‘sfl T 'l »,!51 m -..&)\A.;;‘_
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10.

Fingerprints, Investigation, Post-mortem.

(a) Theyar® terms connected with medical science-

(o) Theyare in alphabetic order.

(c) Theyare technical terms generally used for defecting crimes.

d It is a process used by crime-branch.
Thallophyla, Bryophyta, Pteridophyta.

(a) This is a classification of flowerless plants.
(b) Thesearc botanical terms. ' '
(c) Theseare the names of flowers.

(d) Theseare terms used in Botony.

Reticule, Hand-bag, Valise.

(a) Theyare synonyms.

(b) They are used for carrying small personal belongings.

(c) Theyarc used by women only.
(d) Theyare the part of modern life.
Chlorine, Fluorine, Bromine.

(a) Theyarc all gases. '

() = Theyarcall halogens:

(c) Theyare found free in nature.

(d) They are poisonous compounds.

Petal, Stamens, Stigma. . -

(a) Theyar® the partofa flower.

(b) Theyare the part of 2 plant.

(a) - Theyare concerned with pollination of flower.
(d) Theyare different kinds of leaves.
Falsehood, Misrepresentation, Deception.
(@) Theyarc synonyms.

(b) Theyare all ungentlemanly acts.

(c) Theyare the modern way of expression.
(d) Theyare mostly used during elections.
Goat, Cow, Buffalo. : '
(a) Theyare all animals. - ;

(b) They are found all over the world.

(c) - They all give il o S o3

(d) They all have red, brown .colouz'," ;

Yt T
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4. Series Test

- In this type, a number of digits, letter or symbol etc. are given which follow 2
particular sequence or order and after that some blank spaces are left. The examinee has

to fill up those blanks, either by inserting the appropriate digit, letter or symbol himself or
choosing from the given in the question itself.

Example 1. Fill in the blank with an appropriate digits.
10;4,12,4,14,4, 16,4, 18, 4.....:.;

Explanation. In the above series, Ist and the alternate items are mcreasmg by two.
whereas the second item and subsequently alternate 1tems are constant S
Thus, the missing items can be 20, 4.

(Ans. 20, 4). |

Example 2. Continue the series.
D,F,H,JL, ...

Explanation.

Alphabetical letters are used in the series in order behavmg an altemate' |
“item. Thus, the next letters are N. P. ‘ :

98, respectlvcly
Ans. 79 and 98. | S B O e
CEXERCISE . AL LR
What comes next in the following series: - SR R S &
1. 7,20,58,171, ...cccee.n | P e e o
(@) 509 g st e _(b) 513 i R
(c) 510 e L B Sy ;(d) Néneoftheabove i e g
2. ABDG,....... ARG ' - .
(@ K
() M ,
AEL..ccooeee
@ M |
(¢c) K. el
2,5,9, 19,37, -m-m- s
@ 55 ‘_ !
© 1B

l.’
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16. 4 y 20
8 5 14
10 6

Insert the missing figur-, in the following sequences:
17. 3,6,12,24, 48 6,,.. :
18. 4,7,9,11,14,15,19, ..,

19. 15,7,30, 14, 60, 28, ...

20.  Write the missing figurcs in the following problem:

and so on,

K. First of all, there is the next letter. Then there is a gap of one leme
there is a gap of two letters next, there is a gap of four letters, ané s =

M. Each next letter is after leaving the first three letters.

75. Each number is twice of the preceeding one, with one adues
substracted alternately. ; '

20. Alternate figure move with the difference of 3 and 5.

14. Each successive item is decreasmgby fﬂ\lf- A . e
D. wed in the series is A followed by Z, two s
follg;}‘vzdp;;tcg t:gl:l: time;n C followed by Z. The M!!hﬁ—h :
followed by Z. T . L
The sum of the pair in the first coloumn is 14 » ‘7‘7
cleven each and in third column tEwc:lve each. Thus, e e
be 12 only when we add eight in four. o L
The figure increases from first row to second row by_s d e e
second to third row. Thus, 8 + 5= 13,13 -3 = 10, Simularly, 8

= —"‘«._’ - N "I

i & SR,
B L 1 .

: sl T o Baft

" Il- T

-

AT
oy I
= g

L
P
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F g 06 The e sk S z.z:r.rzr- :,:f "’: = ._:: *—:r aiphabet o the secopg
' LTt and Twe apnane I OO covme. iame A m -
fooun Q
5. %) m}m-suﬁm:’;riura:;t; four ziphabet R 15 four aiphabet away fop
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backward two ziphzber and three 2iphabet m the fug

" Tfmﬁ&fwwf three ziphzbet and four aiphabet m gy
second coburr. Seuierty. ﬁ&ﬂ’ﬁéw:zz’axpm‘lskzpf(-“
2l e dipgiaioes. Tius, 1 1s five alphaber 292y ! fom 0.

13. (1) Tbuﬁmn&hﬁfof&zs‘;ro,*:c.z" of first and third sow
Ths(S+1)~2= 3. The sussmg Hzze should be |

. The sum of cach columm is 15. Thes, the mussn ng figure should be 2.

15. (®) WW@M%nfﬁ@mTekﬁa:gpmmﬁzu
colenss ks the fhicd colemn, ey mcrease chronolopscally.

16. (17). T&Wﬁf“ﬂﬁﬂﬁachrw,addmmt}zmm’

-"tﬁcﬁd-ﬁ:anZ(G)-l;
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':?'ll'm - -.rp 4 - ‘
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JUMBLED SPELLING TEST
spellings of th

’)f “:1" WOT(

(a)
In this type of test, the

examinee 1S n‘.;xmml to put the letter
arc as follows:

Rearrange the letter to make a meaning|

BSINOLEPRES (Knowing one's «
(A City of India)

Example.
(1)
(i) MIAASTRR

(111) MERIP (A kind of numbcr)

(An indoor gamc)

(1v) .\(),\'(i(i”’l’
Ans. (1) RliSf’()NSlBl,l:
(11) AMRITSAR

(111) PRIME
PING PONG

(1v)
EXERCISE
Write the correct words for the tk;llowmg;urr{r“?::i pe
COYKEH (An outdoor Game¢)
DADRIM (A city of Europe)
INLREB (A city in Europe/
4p. EORM (A city In Furop€)
5. IETLOB (Atype of con(aincr)
6, GRENOA (A name of Fruit)
nimal)

(A Kind of A
(Arkind of Bird)
nd of Fish)
ke of Car)

7. BIRBAT

. PEOPIG
HLAWE (A ki

LTEVCROH (A ma
Name of a Sww’mun)

DAGTESON (
CTORPAI (A name of frruit)
1487, (An Art)
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16. ETATMESTN (Concerns with Witness)

17. VERPOT (Status)

18. GULGEAG (Tour) :

19. RNTAI (Means of Transport)
20. DWINOW

- (A Fixture in House)

Rearrange the following spellings so as to make them meaningful words,
21. RMA 22. NIFD

23. TGE 24. UTP
'25. ILHED 26. SKED 27. NPOOS 28. PLEPA
29. TIFLUEABD 30. WLUNCKO 31. VENRGOENMT
32. EIGHTH ‘ 33.. LESPCSETAC

Point out the last letter of the correct words formed by the following jumbled
spellings:

34. YNERGAM

- (Name of a Country)
(@ E (b) R () Y (d) A
35. SUNIGLES ) (Concerns with Face) '
N (OB e (b)) S () I (d) E
36. YALAIMHA = (Name of a Mountain)
@ Y QL L - M) A PR CR
~ 37. ENCOUANNENMT (Proclamation) . |
(@@ E S % (b) L ) A d M
38. PETYREWRIT (Helps in writing various pages together)
(@ P b T () R d E
39. YCRCDMEO - (A type of System) '
@ A - b) Y (&) O @, C
40. LIVETENTAN (A Cadre in Army)
(@ T (b) E () 1 (d N
@%ﬂwﬂ. @7&?
1. HOCKEY 2.  MADRID 3.  BERLIN
4, ROME 5.  BOTTLE 6. ORANGE
7.  RABBIT 8. PIGEON 9.  WHALE
10, CHEVROLET Il. GLADSTONE 12. APRICOT
13. DRAWING 14.  FILE

15. PRACTICE

B
D i



S nrest Iniau " fe1. ¢ ’ A
Dogar s Un up-lo-date Supe) ’rrl('lfi!jc'ry'fr Yoo N
POVIRT 25t M / "
V INDO Ul : :
il ] |
RACH , OES Pl
9. BEAUTIFUI 4 ["'F”‘ l
VERNMI 2. HEIGIT
GERMANY o UGLINESS v HCTA
ANNOUNCEMENT 38, (c) TYPE WRIT] 1,  . |
DEMOCRACY 10 (2) LIEUTENANT

b) CODING AND DECODING TEST

Ihis test 1S used in conveying the secret message etc. Ir
ed in coded words and later on they are to \ .L‘.\\w{'ﬂ .

e coded values are given according to some w;“w \ < Bia
\tterns are of different types. It 1s the common sense of the ~1K;L‘i\>‘tw'l A
ome patterns arc given below: s
If EFMIJ stands for DELHI and MPOEPO stands for LOND(

does NPTDPX stands for?

In the above example, each coded word stands for the previous word

(i) Example 1.

Explanation.
EFM =D E il
M. P OEPO=LONDON
NPTDPX= -MOSCOW

NPTDPX stands forM.O S C ow

Thus, coded word

(ii) Example 2. 1f ADVANCE in code form stands for NEUTRAL. What ¥ e |
stands for?
Explanation. Expressing the coded and decoded word as
ADVANCE
Fn s for V [hus, E ¢ \ D
y 4 7 : a : :
In the above caseé, A stands for N, D stands for E, U stands
stands for
E=1
C A
A="Tor N |
1 ace MAaY "
ECA 1 as the apProF riate cas*
LATEoOr LANE as the apk Il 46 e
Ihus, ECAD stands for L / » g : r
OLESC ENT stands
(iii) Example 3. [h word AD
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\
\\‘v

|\'l|\‘\\ll|_\‘ code N
(o) 5
(h) 1OR 240

Nolutton: \ B O | | N ( | N !
A » l Y .‘ )] N ) ‘ 6
5 DOLI

W6~ ASCENT

EXERCISE
1. IWGOLFER is coded as HNMEFQ, then HUNGER will coded as:
(a) ITOFFQ (b) IVOHFES
(¢) ITODFQ (d)  TIDOQF
2.  If GOLFER is coded as TLOUVI, then POWER will be coded as:
(a) MNEVI (b) FGHVI
(¢) CLOVI (d) KLDVI
3. I GOLFER is coded as EOJFCR, then STUCK will be coded as:
(a) UTCWM | () UTWCM
(¢) QTSCI ' (d QTCIS
4.  If GOLFER is coded as IRPKKY, decode of HRVHK will be:
(a) FORTS ' : = .(0) TFQREE
(c) FIRST _ (d) FEWER
5. If HIGHLIGHT is coded as GJFIKJFIS, then LIMELIGHT will be coded as
(a) KIJKLKIJFIS . (b) KLJFKIJFIS
(¢) KILFKIFIS © (d) JKFLKIFIS
6. If Selfless is coded as SSELFLES, then BROKER written in that code as:
(a) KERBRO (b) REBROK
(¢) RBROKE (d) ERBKOR
7. If PEKING is coded as ODJHME, the code for SIDNEY is:
.(a) RHCMDX (b) DINSEY
(c) NIDSEY (d) YENCIS
8. IfRETREAT is coded as TGVTGCYV, the decoded for CFXCPEG stands i
(a) ADMARCH (b) ADVANCE
(c) ATTARAT _ (d) BATAPUR




9.

10.

11.

12.

13.

555

19.
20.

B sTim oo e Seper Inteligence Tews il
2

0, then decipher the follan
If LONDON is coded as MPOERO, the | p I

@ OBSJI leiand

() CFSMIO o T
f FOUR is coded as 1234, FIVE is coded 25 1567 zad TEN & oot 25 4.

Then FURNITURE can be coded as:

r— =
= ,-\“

(a) 134958347 (b) 125849437

(c) 124557893 (dy 12495831L7

If LACE is coded as 6543, DEEP is coded 2s 2338, Encade PAL 0§
(a) 586453 - (b) 685534

(c) 856543 (d) 38536

ITRANGER is coded as REGNER, then TABLE will be coded a5-
(2} TABLE ) ELBAT

(c) TELBET @ TELBA

If LIFE is coded as IFCB, then how will you code M .
ol (&) JBOFR

(c) JBOFQ @ KBOFR

is coded (d) ABODEEF
II::;’LADB_ as INCF, how will STRANGE be coded?
Hmo.,; as CSBWP, how will BEAUTIFUL will be coded”
’ DN, SP: MACD, what does
NASAL means? 3CD, LAND m-nlimtmn:m-s .

[ o
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\ (W) KLDVIG Seventh letter from the beginmng of the alphaber hy
changed with seventh letter from the last letter of . alphaber,
(ifteenth letter from the hirst s changed with the fifteenth letter frg
alphabets and so on, |

; 5 hC(:n
Stmilar| .
m the [ag

A () QUSCL The letters in the odd positions have been changed two places back
m the alphabet whereas the even letters remains unaltered.

4. (0 FORCE. In coding, the letters have moved two places, three places, foy
places and so forth, So, in decoding, we must go backward two places, three
places, four places and so forth,

S (¢)  KIJLFKIFIS, Even letters have been coded as one stage ahead whereas the
odd letters have been coded as one stage backward.

0. (¢) RBROKE, The last letter has been transposed before the first letter.

7. (a)  RHCMDX. The code is formed by going one letter back in the case of every
letter of the word. '

8  ‘(b)  ADVANCE, The code is formed by skipping over one letter forward and
taking the next English alphabet. ‘

PARIS

(b)  The letters are reversed,
13 (¢)  Letters are coded preceded by two steps.

14 (¢} Letters are coded by taking preceding letters of the alphabet for first, third,
- fifth, seventh and ninth letters of the original word and succeeding letters for
second, fourth, sixth and eighth letters of the original words.

1§ T 16. UVICPIG -~ 17. CFBVUIGVM
IS, DCMCB 19. RPMNFW 20, . gosmeut SEGEEEE

(3 1 LIESY IR IRV ARE AL o ‘“,“:l‘.‘ 3 ' A 2
(c) ALPHABETICAL TEST "% S il i dosin

In this test, questions are asked on the locatio » and ogou
Example 1: Wnite down the 10th letter of | iz

Explanation:  ABCD _' |
Answer: The 10th s ' Dt
Example2:  Write down the Sth letter after .

Answer: Q. Tl
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EXERCISE
ASRQRPRONRNQSRQROQS
1. How many Q's are preceded by and succeeded by R?

@  One ® Two (¢)  Three (d) Four

2. Point out the fourth consonant after third vowe) in the alphabets:
; i @ M (d) N ) 1 d) K

3 Which letter is seven letters ahead of the letter which follows fourth letter from
E the right?
* @ 1 (® O (¢) N (d) H

4 Which letter is in the middle of the two letters—one is second from ') i the
3 right side and the other is third from 'Q" in

the left side?

@) M (b)) L _ (c) N (d) E
3. Which letter is three letters ahead of the letter which follows *A” and precedes
-, Vi 4
E a) E (b) D (¢) F @ G
. Which letter precedes the letter which is 13th from D?

EXCOMMUNICATE

__ ) @ A () B N © C 4 Z

I-‘-a&em_u_wmkuu;uud of M in the alphabet as the first O is
bﬁn&amlﬁit_hm _

A

@ R
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(d) WORD BUILDING TEST

— - - N —A—-n-. P,

. - il :"'— :: - ': ”' — —— -“‘- '(--/\- Z 1- '-w-m«t -
dhas test, candudates zre reguared 1o form new words '~. y suffixmg o preiinmg
= ey : “
— 2 -y

or takang off from or 20CIng oW letters 1o the 'f-’* of given WOros.
E w: [k of 2 single letter, winch when suffixed o the ,o.mm
new WOrds

:
. A PRPREES = "'f‘.——" 'o I AO 0-.—'(;/ - ,- " — *’ "
Explanation: A czrefil observztion of these words suggest fhat of we sy
3
o & _ S o pars fond o0 i i
:; .4( ‘7. "'-‘( - ”: tels BILNL LI L ;cz =3 .

N M HAT, BORN, HID

NAME, H—{rE BORNE, HIDE -.

Example: Think of z letter, which if replaces “E” m the followme wonls =
words:

BED. HERD, MET, SET

Exphlﬁor' ’pd;ﬁiﬁ ephr.ccwilz ‘A’ the acws words becos
FARDMAT:SAT. Y 5 .

BA '—ﬁ B ~ i 4 I

1.
3. |A(....)SAY ' 4. | HAND(......

5.
7. | PAPER(......) LIFTER
9

1

. | CH(....)HEM
13. | BAR(......)SAY

15. | DE(.....)ROY
" Substitute the words in the first brackets

“7. D + (sheep) = (a small draught of
‘ spirit) ‘

2 SWofﬁm)ﬂ]nym
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1. | EVENT , GAIN —
e 4. SOME |
's. | LET 7. WEIGHT |3, OVER
9. | BAND 1. ANT B o
el PP , ’

| 13. | BAR 14. MUSIC | 15. VICE 16. | DUAL

| 19. | TABLE : STABLE 20. OAT: GOAT ‘

(e) ARRANGEMENT OF WORDS IN ACCORD
DICTIONARY. ANCE WITH

Solution:  Arranging the wordsmaccordanoewnhﬂle dictionar

(a) Siddheswar : ® S
(¢) Sidhaswer .- T2ET W dhesw
Thus m(ﬁ) lsﬂnrdmhmg’ I.

o ‘iJ' d"

m&.n.qk\.

.1" -

1. If the
hi -“_“
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S, Mohsin, Saced, Ashig, Rafi; Yousal, Subatl, Anf, Yameen

6. AP Shanf, A.S. Shanit; AD. Shanit, MINC Shanif, MCAL Shanil, MDD, Sharf. MM
Shant.

7. Include, Increase, Index, Incubate, Incredible, Individual

8. Salt, Sanction, Salon, Salute, Saloon, Sample, Salvage,

9,

Temble, Tenor, Termate, Tenure, Tense, Term, Tentative.
10.  Dismantle, Dishevelled, Disorder, Dislocate, Ihsineline, Dishonour, Disinfect

U (Y
2.  Each, Mask, Odour, Order, Ten.

Election, Eloquence, Enacmcnt Enter, anmmatmn

8.
9.

Salon, Saloon, Salt Salute, Salvage Samplc, Sanctlon
Tenor, Tense, Tentative, Tenure, Term, Termite, Terrible. ,
10.  Dishevelled, Dishonour, Disincline, Disinfect, Dislocate, Dismantle, Disorder.

(f) SENTENCES FORMATION TEST
In this test, the words of a sentence are jumbled up and a candidate !
required to rearrange them in order to make it more sensible sentence.
Example: (1)  Oil and mix not water will
(i1)  In the lives service our us of let our Nation dedicate
(i) Bud must the be in nipped evil the
(v)
Answer: (1)
(n)
(1)

(i)

Ancient to story the loved mariner adventurous narrate his of life
Water and oil will not mix.,

Let us dedicate our lives forﬂ\ewwae of our Nntian
The cvnl must be nipped in the bud,
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EXERCISE

In the following sentences, the words
n

der to make the sentences more sensible
- lleh Shah was Shakespeare,
The Punjab of Bulleh:

are jumbled up, Arrange these words |
n

Asian Country while is a Poland 1s a Pakistan European country.
Azad was written, Dr. Mohammad Igbal a great Pakistani epic.
First Prime Minister of Pakistan was the Liaquat Ali Khan.
Completely by enthralled beauty the she was of the music,

Lives service of our us country let so the our dedicate.
Professions of teaching of the noblest.

Pakistan there of scarcity of scientists in is a.

The economy of Pakistan's is backbone agriculture.

What is the sun of the diameter approximate.

Science electric wonderful lamp of invention a is.

A thinking clear necessary in writing for meaningful story.
Workshop hard work and made him honesty capable of a small set

I : ab o, g 10 : 1 L
Certainly point strang this favour was its a in.

_ World memories of the lower minds filt would now and then across their.
20. Pakistan modern is known M.A. Jinnah as architect of.

T T o

O 08 ~a O W B W v =~

— — ——
el e

‘ of own

wuill oo LRl

: r mpletely . _dod-
~, letusdedicate our lives to th

o

yr
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8. There s a scarcity of scientists 1n Pakistan
9.  Whats the approximate diameter of the Sun?
10.  Agnculture 1s the backbone of Pakistan's economy

11 Electnic lamp 1s a wonderful invention of science
12, Aclear thinking 18 necessary for wniting a meaningful story.
13, Hardwork and honesty made him capable of setting up a small workshop ¢
- p 0Of hli
own.
14.  Young Anf left the house and joined an orchestra.

15.  Can the divers really reach such depths?
The base of the rocket is still turned away from the moon.

It was a glonous might with innumerable stars ghttering in the sky,
This certainly was a strong point in his favour.

Now and then memories of the lower world would filt across their minds.
0. M.A. Jinnah is known as the architect of modern Pakistan.

ON OF AN APPROPRIATE WORD

VD ’a 1143 D_S

choice 1s robbed.

- bbe '_ of all the valuable possessions.

151 i,
,;'-‘-‘

'S m

of ......... material that it was difficult to
ge.

. . -
GO LIC L
g

A(e) extraneous (d) illustrative
"- m‘h mm‘go
) Strictly (d) Presently

t ......... the formation of a coalition
s f: ‘ .l ’ L

0 :| :rl to

) usion, on |
..+ the Prim Minister, nobody wa
3 ,17' o
B alg
Of

F r *
» abgo



She's so terribly cryel

(@) towards

(b)
Thev hav 0 (©)  with
6. I'hey have already been in the Space ] Wt
iy T W) gy T ( 1 Uesday,
) ' ¢) for ;
When you have lunch at 5 restaurant, wp, pays h o
| ‘ ) 2 A t bill?
(@) on (b) for (¢©) made o(dnll.
‘ . ;o ' ) to
8. Twanttwoseats ... Romeo and Juliet for Friday evening
(a) at | (®) in (c) for (d) of
9. On Republic Day, V.L.P's received ........ treatment

(@)  selective (®)  qualified

(¢) preferential
10. The League Government has every

(d) important
intention of

......... its election pledges.
(a) implementing (b) fulfilling
(c) displacing (d) Honouring
11.  The opposition tried to have the pProposed law ....,.... but were defeated by the
government. '
a)  amplified (b) amended (c) subscribed (d) amassed
I 12.  Politicians know how to +++.e0ees public opinion:
(a) flatter (b) “evade (¢) manipulate (d) jostle
o 13. Cigarette smoking is one'of the main cause of s%4+202. bronchitis,
I (a) fatal (b). grave (c) serious (d) ehronic
14. I found.theé fill | 50 yueeessis that I went fo see it twice.
B) D T W*ﬁice () overwhelming | (d) . absorbed

edition of the poet's work is to be published.

. (b) defunct - (c) definitive (d) defiant
.anka believe immigrants should be
(c) colonized (d) abdicated

(c) celebrated (d) committed
to rub on the affected part.
- ) suggested (d) wrote

5 drolld (@ wandee

ki s ..




s. (b) 6. (a) 7. (b) W
9, © | 10. @ | 11. b | 12 *\(z
13. @ | 14. © | 1s. ® |16 | p
17. (d) 18. (b) 19, @ | e

(h) ODD-MAN OUT TEST

In this type of question, few words are given, out of them one may not
belonging to the group of other words or sometimes two words are antonyn ,
synonym to each other, The candidate has to locate those words. For example:

Example: - (a) Fruit E (b) Vegetable
(¢) Cereals _  (d) Sky

In the above example, Fruit, Vegetable and Cereals are consumable it
whereas Sky is an odd — man. Thus, the answer is (d).

RCISE

g 1LE A1] '
LTS e . :
a S
b ol f;,“ : (c)

'-"3:,-':"'7"-*:_."g..;..} Malignant  (d) Malicious
jon  (c) Pen (d) Pencil
| ﬂm‘ (d) Gate
(c) Ct A' (d) Bench

2% Bicy



4. @)
15, W)
6. (@)
: )
R (a)
19. (&)
) (a)
21. (@)
22. (@)
23, (a)
24, (a)
25. (a)
26. (a)
27. (a)
28. (a)
29.

Indigo

Pakistan
|‘\“t.llhl
Bultalo
Koal

wun

(h)
(b)
(h)
(

(b)
(b)
(b)
(b)
(L)
(b)
(b)

Paradisc Lost (b)

House

Herrng
Chanot
oust

Benevolence (b)

(b)
(b)
(b)
(b)

Black
Bench
g
Back
Bird
Mass

I ondon
Crermany
Cow
Shelley
Pistol
Bible
lgloo
Whole

Car

September
Kindndss

(¢)  White
(¢)  House
(¢)  Bull
(¢)  Right
(¢) Pan

(¢) Neptune
(C)
(¢) Holland

(¢) Goat

(¢) Wordsworth (d)

Daggar

(¢) Geela

(¢) X Hut
(\') .\‘lldll\
(¢) DBus

(¢) October

(¢) Affection (d)

Washington (d)

{0 Dogar's Unique up-to-date Super Intelligen

\"1, Dogar's Unique up-to-date Super Intelligence Tecs— ok

b ntelligence Tests 4
—— 203y

tt') l.“H[h-‘-

(d)  Sofa

(d)  Fish

ht (d) Above

l‘i) l)\.‘\k
(d)  Pluto

\\‘\\' \.”lk
(d) Pakistan
(\“ Bitch

Bernard Shaw
(d) Bomb

(d) Quran
(d) Office
(d) Cod

(d) Sleigh
(d) Noy ember

Hatred

rd are given al
is asked 0

N x
-,
Y .\‘

\d other ar¢ e !
complete the word W

MISSINE. I he

th
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‘One who walks on foot' is known as Pedestrian. Thus, m
‘\(,,

are '(j}e'_

E, E, R
RCISE

(Sending of goods to o

1. Xp - T e ‘ ther COUNtyie,
2 sy-h-1-¢ (Science of studying human ming 3)
3. e—0—-C—-a-Yy (A form of government)
4. t-1-ge-n-ia (A noun of intelligence)

. P-r-—ie- (Range of operation)

B Busgat (A place to sit)

7 V-r-ac-l-r (A language)

8. Pu-c-uva-e¢ (A sign used in writing)

9 p—d- st—ian (one who walks on foot)

10, G-g-n-ic (Of very small size)
ANSWERS
2. Psychology 3. Democracy

5, Purview
-. S ‘ ;8;,9 Qt“ate oy

ok o e ok ok ok e s sk ok Sk o

6. Seat

9. Pedestrian 10.. Gigantic




In lhl»\ type Ol (€SI, U auicinauval Iy atc used In the

ling. 77 ¢y carry values other than what they norm question, which,

are misleac I
ally represent.

otherwisc,
Example:
Which number will come 1nto the place of question mark in the following series?
g x 4=42 6.x 6=33 2x2=11 4x 6=23
2x8="7 .
(@ 13 (b)y 14 (6).: L5 d) 16
Explanation: If we look at the qxample cgrefully, we find that the identity is half of
the [igure given in the question without any sign. The half of 8 is 4 and
the half of 4 is 2. Thus 8 x 4 = 42. Similarly,
2 x 8= 14. Hence, (b) is correct.
Exereise
1. If x' means minus, ¢+> means multiplication, *~’ means plus and ‘+’ means
divided by ; then _
16-8x4-8+4=2 . .
(@ 170 (b) 184 (c) 126 (d) 156
. 61=6631; 43 x 40=3440; 69 x 83 =9863
: ; (o

u

86=7
‘ (D326
P

4‘.' P
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13 .'3-°u‘.‘os-lor°'IB."N.‘II"‘?‘ ‘
14, M8 Xd=d2,0x 033, 2% 2= 11,4 x 6=23, then 2 x § -
@ 1 ® 16 e Br, e
15, Tasert the sign *+" and " to get the desired results,
(a) 3.4 =12 (b) %8P w Bl eito
1 1 '
—.3=.4"=5 ..6 )
(©) e l ) 3.5=..1==2 ;

In the following questions, answer is calculated by
(Number) ? 4 the preceding number
Find the oniginal number by making an appropriate choice.

16. 181

(a 20 (b) 13 ) 10 d) 9
17. 419

a) 21 (b) 18 (c)
n ¥ >

(a) 34 (b) 35 . (0 (d). 27

| ?
.=. @WW%MM

g - ' } r
_ﬁl'St digit of second number, the first
20N dlg)& Df the second number are put (0

u ce betweep the numbers

gty
”?‘_‘ ebrackets

POS ge form 1S
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34=3.4" =910
It 1s the product of both the numbers and adding 4 in the last ie. 12 +9

1084,
The number 1n bracket 1s the quotient

240. The number 1n bracket is the product of the sum of the digits outside

brackets.

9 1226. The number n t
100 78. The number in the bracket

bracket.
The number in the bracket is one-third of the difference between the

outside the bracket.
12. (a) Ix6+5=17 (b) 1+8x9=28l
(¢ 5+4-9=0 (d) 8x5-9=3l
13. (b) Eachtimeoneis added in multiplication, 1 e.,
3x0=0,4x 1=4,5x2=10,6 x 3 = 18, therefore 7 x 4 =28

Lhe digits are halv d ultiply together.
(b 2aigb=19

d

of first two numbers.

'y '

he bracket is the double of the sum figure outside brackets.
is three times the sum of the figures outside the

figures

1. 10L

A

J

ke

2

419=20"+19

991 =31"+30
239=157+14
'!“" 1 ;‘w :I!'_-:
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In this type ol test candidate 1s requir 3
y v ey b [ S TCC . ¥ . . a .
‘ equired to answer a question after rcarm[g\
1
e

sentences, each sentence 1S a statement that contains some information
idate 1s to ascertain whether the question asked can be answered by (‘:f s

statement, or (11) one of the statement alone is enough and the olhcr'statcment, :.'nhﬂ the
be enough, or (111) both the statements are necessary i.e., either of them alone nzrldna
enough, or (1v) both statements even together do not give adequate information. .

Example: Below a question is followed by two statements. Decide whether
information giving with the statements ts sufficient for answering ;hc

question. Sometimes, both the statements do not give enough information g
d sometimes one of the statement is sufficient t

cand

answer the question an

: answer the question.
Direction: Mark ‘a’, if the first statement alone is sufficient to answer the question but
the 2nd statement is not enough. Mark b, if the 2nd statement alone
sufficient to answer the question. Whereas, statement 1% is insufficient. Mark

o', if both the statements are needed to answer. But neither statement i
Mark 'd', if either statement by itself is sufficient to

sufficient to answer. '
answer the question. Mark 'e', if not enough facts are given to answer the
~questions. - s
struck 12 at midnight.
PO L ‘_‘ﬁ

— | =
lusive enough to
the 2nd statemen

n, both the statements were o
. 1st statement as well as Irom LU

mmitted at 2 a.m.




L o o
dents were the
audents were boys and rest girls

- re in the class?
vy
1 Hew man

(1) 0% ol the
l Ihere were o0 _;;uh in the class
(AL
@ O ) (c) W W O @ U

How many countrics participnlcd in CHOGH-198y?

More than 100 countries participated

(4} Less than 120 countries participated.

@ O (®) O (€ O ) U (¢ O

¢  Which country did Pope Paul Il belonged to?
Pope Paul 11 belonged to a country whose capital 1s Warsaw,

1))

(1
(u}  Pope Paul Il belonged to a country of Europe.

w O () O (©) 0O @ O @ O
6  UHew many Zaircens went to Mizar of Mian Mir Sahib?

()  Last ycar 5,000 Zaireens went to Mizar of Mian Mir Sahib.

()  This year there was a 10% increase over the number went last year.

w 0O () O (© O d 0O @ O
% Was Sultan Tippu a greatest Warrior of Ancient India?
Tlppu was the f;

e cloc
\Eow
mhﬂﬁ'hmdnsm;dwaybctweeniiandf)
- ® O © O @ 0O @ O
of Ahmmm;\mnv

- Lo .4,, , ween A and B.

‘
? e .
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What is the non-voting population of Rohri ?
(i)  Adults over 21 years of age are permitted to vote.
(i) The population of Rohri is over 66 lac.

(@ 0O by O (c) O @ 0O

(e
1Is Rafiq older than Rafi ? e

(i)  Rafig’s elder brother and Rafi’s elder brother were classmate.
(i) Rafiq was married in the same year when Rafi was married.

@ O b O () O @ O (9 O

fi
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8. Test of Reasoning

— . [ . . . s
In the following statements, a situation 1s explained mn a few sentences

pirection : :
followed by a conclusion. You have to say whether:

(a) Conclusion necessarily follows from statements.

(b) Conclusion is only a long drawn one.
usion definitely does not follow from the statements.

(¢) Concl
(d) Conclusion drawn is doubtful.

Statements : 1 7
| Students who work regularly pass the examination.

2. Students who work hard also, do pass the examination.
3. Sikandar worked regularly.
4. Waheed worked hard.

- Statements :

3.
lt X

P
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Statements : §

I In summer the nights are generally cool and the days are hot.
2. June 1s a hot month.

Conclusion :

¢ Onthe 22nd of June, the night will be cool.

@ O ™) 0O © O @ 0O
Statements : ¢

L. Early rising is a good for health.

2. Muneer generally rises ear]
Conclusion : '
@

y in the morning.

Therefore, Muneer has good health.

@ O mm g (= 3 JRE O

Statemehts iy

I. Mental troubles increase during hot season,

2. Months of Ma Ju very hot.
sion.; _ ',
tal,cases is more dui Y anc
. (b). i
S R :

1. Clouds are formed in the

2. Mountains are high,
Conclusion : '

higher regions.

®  Therefore there js more rain on the mountaing, o
sumu:g . . ‘ ! .:': L.I
- Oxygen is found in the air,
2. Things bum i the gr,
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* Statements : 10
1. Rahim is taller than Rafi.

2. Rafi is shorter than Mohsin.
3. Mohsin is taller than Rahim.

; Conclusion :
. @ Therefore Mohsin is the tallest of all.

| @ [ ®) O © O @ 0O

Statements : 11
1. X iseastof Y.

2.Y is north of Z.

Conclusion :
Therefore X is exactly east of Z.

@ O ® O © Od @ [

o oy
ont ang;(f lq,standmg behind all.
® [ © 0O @

"1 %g}ej.,ofa pentagon is 470 degrees.
O ©0 @o
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Statements : 15
1. One should not have more than two or three children,
2. He has three children.
Conclusion :
® He s, therefore, very rich.

@ O ® O «© 0O @ [
Statements : 16
1. Laziness 1s a bad habit.

2. Very rich people are generally lazy.
Conclusion :
®  Richness is not desirable.

@ 0O %) O © 0O @ O

3 ngle in the moming.

S u
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Statements :
I'his bottle has a ye

Jlow e 7 / -
J thI (lﬂd contains lcmonadc and
ey y d Its Contents

are good tg
Conclusion :

(

(a) ] ) [ © [ @ 0
Statements : 21
|. Al-ghadid is an African.
2. All Africans have curly hairs.
Conclusion :
®  Al-ghadid has curly hair.
@ O ® 0O © O @ g
Statements : 22
I. Thisis No. I1 bus.
2. Bus No. 11 go to Mughalpura.

nclusion :
Therefore this bus goes to Mughalpura.

(@[] ® '] () cmmuinl] @[]

tements : 23
1" Fish have cold blood.
_ 2. Rabbits have warm blood are good to eat.
L, | -ﬁonclusion -
o9 Therefore Fish are not good to eat.

@ [] @ . 0O - © 0O @ [

Statements : 24
1. December is a winter month.

2. Winter months are cold.
onclusion : |
December is cold.

. @ O (b_). TR e .

1. Murder is a crime.
~ 2. Anis has committed a crime.
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Conclusion :

® Anis is a murderer.

@ O ® 0O © 0O @ 0

Statements : 26 _
1. Salt has a bitter taste.

2. My medicine has a bitter taste.
Conclusion :
® My medicine has salt in it. \ ]

@ O ® O © O @ 0O

Statements : 27
1. 1know a University professor.

2. He has a beard.

Conclusion : : ) |
®  All University professors have beards. '

*
k<)

e O 0@ O @ 0




@ [ @ O © O @ ]

gratements : 31
|. Nasimisa seamslress.

2. Seamstress makes dresses.

Conclusion :
e Nasim makes dress.

w o ®w O © O @ O

Statements : 32
| Jahanghir’s Tomb is in Lahore.

2. Lahoreisin Pakistan.

Conclusion :
Jahanghir’s Tomb is in Pakistan.

@ Oou® O, -©@ 0 @ [
233 e

2 isafootball. :

tatements : 34
1. Water is liquid.
2. Rice is of the colour of




L]

O @ 0O @ Qg

.

- . Oxygen 1s a gas.

A . . . . iie L

: - 2. This cylinder contains gas. "'h
- Cenclusion :

~ ® This cylinder contains oxygen.

@ O ® 0O © QO @ 0O .
: ik |
Statements : 38 . <
1. Caffein is a drug.
2. Coffee contains caffein.

2 A barking dog keeps us awake.

Conclusion : oot SRR

®  The neighbour is rcsponsible.‘ I mm..-;-rta Ptk
@ O ® O O . @&

Statements : 40 S

1. Mario is an Italian,
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2. Hard work leads to success.

Conclusion :
I A succe

(@) [" @ O .© O @ [0

ssful person rust be honest as well as hardworking -

Statements : 42
1. Poets are very emotional.

2. Scientists are very rational.

- Conclusion :
@ So, ascientist cannot be a poet.

(@ [ m O @ 0O @ [

B Statements : 43
1. Proteins are an essential constituents of food.

2. Meat contains proteins.

gsion :

eréfore meat is an essential partpf diet.
» ! _-" & (d)
.
N T
people are always faithful.
B o) 0 © -0 @ [

cing hard for his examination.

_.w.:,,u nation.

30 e @ 0

he presence of sunlight.
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Conclusiol_l :

®  Duning sunlight green plants enrich the air with oxygen.
@ 0O ®w O © O @ Qg
Statements : 47

1. The higher we go, the cooler we feel.

2. The pressure of the air goes decreasing as we ascend higher and higher,
Conclusion :

®  Lower the pressure of the air, the cooler we feel.

(@ [ (b) - D © 4 @ 4
Statements : 48 ) |

1. Most of the children of Nursery class sleep during rest hour.
2. Muneer is a child of Nursery class. '

Conclusion :
~ Muneer m



_ m——— nIDWErs
. (4 We arenot given whether Sikandar worked hard algo and

L] A wa
regularly as well. So we cannot be sure of their success heed workeq

2. (@) Theconclus ,n does follow from the two given statements,

(d)  The conclusion drawn is doubtful because the word “generally”
scope for Canadians not to have white complexion,

4. (d) The conclusion drawn is doubtful because the word ‘generally’ allows some
scope for metals not necessarily to have these properties. :

5. (d) The conclusion drawn is doubtful because the
statement makes the conclusion doubtfu].
(d)  The word ‘generally’ in the second statement makes the conclusion doubtfy]
(a)  The two statements directly lead to the same conclusion.

allows 50mMe

word ‘generally’ in the first

(b))  The conclusion is a long drawri one. There 1S a positive relationship between
the clouds and rain is not indicated by any given statement.

9. (¢) Nowhere in the statements there is an indication that oxygen ‘helps in
burning.

10. (a). Mohsin evidently surpasses all in height.
1. (d) X cannot be exactly east of Z.
g2, conclusion necessarily comes from the statements.

13. c ann

14. _ A s
15, { eh.
6. c 1S
- ?, : Since gases expand more than solids, so the toy balloo sts.

(b)  Nothing has been said about elephants in the statement whether they roam in
~ The conclusion necessarily follows from the given two statements.
The statement does not explain the contents of the yellow label bottle.
The co from both the statements. |
cond Statement make our conclusion doubtful.
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Bitter taste 18 long drawn conclusion,

‘.—l‘* ' ‘iﬁiﬂdu&mn 18 doubtiul.

FUEL B2BRY%

(a)
(b)
(b)

(d)

The conclusion does not follow from the statements,

The conclusion necessarily comes [rom both the statements,
The conclusion necessarily comes from both the statements,
The conclusion necessarily comes from the statements,

The Tomb of Jahangir is in Lahore which itself is the part of Pakistap
the conclusion necessarily comes from the statements, n"tl

Since footballers are athletes, s0 Anwar 1s also athletes,

The conclusion does not follow from the statements.

The conclusion is doubtful.

The conclusion does not follow the statements.

The conclusion is doubtful.

The conclusion necessarily comes from the statements.

There is no relevance between the conclusion and the statements.
In conclusion that Italians sing beautifully is a long drawn one.

Nowhere has it been saild in the statements that the tw ualiti
connected like this. ‘ S x

ab _ h
The cpnclusion does follow from the statements
The conclusion necessarily follow from 'the‘stét'ements.
The conclusion is a long drawn one. He may or may not be'SIe;eping |

The conclusion is a long drawn one. He tna Ve T5 sumy wio s .
the interpretation of constitution, Y&rﬂ'v-'u;. y not be. . Rl

LA}
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("I(P(’.\‘t’ the ('(”'F('(‘f answers:
Monday is to February as Fridayisto
(b)

l.
(@) ~May
(c) June (d)
2. Gun is to Soldier as is to Blacksmith.
(a) Hammer (b)
(c) Nail (d)
3. Which on¢ is different from the rest?
(a) CE (b)
' (d)
s a0
‘ roxil-t‘h"g rest?
' (b)
(4

o following series:
: ; 4 8 24 96 ?
(@ 408 ~ (b)

(d)

next number in th

804
2 480
hat will come next in the following series:
| e 3 51 19 3

e
ey (b)
(d)

(k)

Intelligence Test _1_

July

March

Plane

Spaceship

LG
Gl

1L
MP

wn
W
(o)

064
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@ N ) 1
) TR @ K
9. Which one Is different from the rest?
(@) May (b))  November
()  Friday (d)  August
10. Which one is out of list?
(a)  Lahorc (b)  Punjab
(c)  Pakistan (d)  Kabul
11. What will come next in the following series:
f N
& 2 5 8 ?
(@ 1 (b)
16
© 1 (d)
32
12. Which one is different from the rest? :
(@)  Spaceship (b)
(¢)  Aircraft o (d)
hich one is diff

b)

(@) L7

(¢c) EW ' R
17. Which one is different from the rest?

(@)  Mother

(¢) * Brother

© A
19. Which womd;dg: not
@ Tiger
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(d)  lLcopard

(¢ Lamb
20. Which number is out of list?
(@ 8 ' ®) 4
© 7 : @ 12
27. Bird is to Cage as Prisoner is to .
(a) Pigeon (b))  Lockup
(d)  Lock

(¢) Cell
22 Which word does not belong to the list?

(a) Handful (b))  Beautiful

(d)  Dutiful

(c) Careful
(e)  Cheerful
23. Which word is out of list?
(@ Liquid _ (b) Oil
(¢c) Water ; (d) - Petrol
24. Which word is out of list?
(a) String - " (b)  Guitar

(d)  Banjo

RO 12. | @ 2, (a)
RIS e L (©) b 23: (a)
S B (‘) S 14'. : - (a) 24, (a)
: g1 @ 25. (a)
i 16.. (a) :
| o)
8. | @
e
“"‘I':;H....‘ eep. '7 i ey
i - adbser
"‘Jlﬁﬂﬂ;t"lu



In telligence

Test 2 -

@ Choose the correct answers :
1. Ais father of B put B is not A s son, what is relationship of B to A? ‘
(a) Uncle (h) Cousin i
(¢c) Father (@)  Daughter
2 Essence is to Flower as __— is to Oven.
(@) Heal "y  Vapour
(c) Steam , (d) Ice ; ,
3. My Mother is sister of your brother. What relation am I to you?
(a) Cousin (b) Nephew
(c) Brother (d) Uncle
4 Which oné is out of list?
(a) Buffalo (b) Goat
(d) Cow .

@ 9 |
17 S, ®)
T iU Ak S (@)
Wehwordxsoutofhs;" e
' @

s b .:esterday what day will

Clrcumference

dawn two days
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11, Flyisto Acroplane as Sail is to ___

(@)  Ship (h)  Cabin
(¢) Ocean (d) Sea
12. Write next two numbers:
5364 7 5 8 67
@ 9,7 h) 95
(¢c) 8,10 (d 75
13. Finger is to Elbow as Toeisto
(a)  Ankle (h) Arm
(¢ Knee (d) Foot
14. Meat is to Vegetarian as is to Teetotaller.
(a)  Mutton (b))  Liquor
e (c) Vegetable (d)  Fruit
]S, If Box is coded as CDPQYZ, how would you write Coat in code?
. . (@ PQDEBCUV () UVDEPQBC
¢) BCPQDEUV (d) DEPQBCUV

ill come next in series:

o0 25 Y23 28 26 31

(b)
. SN : (d)
131 R - )

next ir ﬁ'j’; _ﬁ_l!owhg_éeries:

(d)

 EGXFXHJXIXKMXLX .
-, 5 {""}' U

N
P



r 1

%{}yg@w up-fo-date Super Intelligence Te@ |

.
.

(@) 298 ' (b)) 294

(¢) 198 (d 892
22. Wag s to Dullard as Idiotisto .

(a) Clever (h)  Healthy

(¢)  Heartly (d)  Foolish
23, Free js to Imprison as Forgive is to g

(a)  Accuse (b)  Punish

(c) Accepl (d) Condemn
24, Which word is out of list?

(a) Fad . (b) Hat

(¢) Far (d Kit'

25. What will come next in the following series:
10 50 250 1250 ?

@ 6250 () 2500
(c) 5169 (d) 5012
(e ' 3750
(1 1 a) 21
1 (i
'._, | () . , :
Pty |- SET @ |15 @ . |25 @
s | JEE 6. |\ @ j
‘ -F,ﬂ.:z)zr,-’lq:?_ ~ (b+d) ! 4
T R i | (d) i
- e
v ' . ;
r'r“ o Yaa 2t 0¥ § i &
: I g L
i 1_;[54.‘! ! ‘
mnmw "#H
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Intelligence Test _3_ '

e Choose the correct answers:
' 1. Which one is different from the rest?

(@ = Yellow s () Red
(c) Blue | (d)  Chair
J (e)  Green . :
| 2. Single is to Double as One is to
@ Two (b)  Three
(¢ Ten | (d)  Twice
(e) Zero '

3. Write the correct answer:
17 23 . 30, 38 .2

(@) 45 : (®) 47
(c) 48 2 (d)
ethe correct answer:

‘What will come next in the following series:
: S W7, 33 ?
@ 66 (b)
@ T S @ 114
‘(c) 65 R s
series: *
’i‘4i.80 6 70 8 60 ?
(b 10, 50
() 50,10

g g k) ¥

C oy -:*;; ‘
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i)
Y. What number come n
10. Book Is to Title as Man is 1o
()
[l. Insert the correct number
(a) )3
(c) 33 > 23
12. Saw is to Seed as Reap isto
(a)  Sunshine
(c) Rain
13. Fish is to Swimming as Snake is to
(a)  Puppy ] b _reepmg
(¢ Crawling (d Jurg
14. Which word does not belong to the list?
(@)  Necktie 3) Coat
« (c)  Shirt (@ Trousess
(¢ Boot
I5. Complete the series:
3 4 10 11 17 18
(@ 25 ; () 24
(© 19 : (d 20
16. Which number comes next in the following series:
, BEENG 554 3.9
(@) 2 : b 1
© 0 | ; (d) . None of these
17. Light is to Eye as Sound is to
(a) + Ear (6)  Foot
(¢) Leg K : (d) Hand
18. Girls wear glasses because: -
(@) They want to show off (b))  They have to go outsi¢
()  They want to look smart , (d)  They have poor eyesight

19. Which one is different from rest?
.(a) ~ Sure : | ()  Vague.
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(c)  True (d)  Certain
), Which number comes next in the following series:
1 4 9 16 25 36 7

(@ 39 (b) 46

(c) 49 (d) 45
' Which one of the following is different from the rest?
(@ Five : ()  Twenty

¢ Two (d) Four
. If Step is coded as 3165 then Petsis codedas .

(@ 3165 (b) 1635

(¢ 5613 (d). 3156

father's son, I have

n a portrait, a man said, that man's father is my

. Looking o
no brother and sister. What is He to Me?
() Uncle (b)) Own Picture
(¢) Cousin = (d)  Brother
. Which number comes next in the following series: s
Ee " i 4456 18 110412 62
- v .
T
Rt e
@
:'@* - (©
v (b)
el (c)
- w (0
) o el
™
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® Choose the correct answers:

7. If Sheep is to Wool as Cat is to . : g
(@ Bitch (b)  Fur -
(¢) Camel (d) . Dog ,

following series:

2. What will come next in the s
| . 2 9 14 21262 °
(@ 38 - ) 31 - .
_ © 28 : @ 33 |
'3, What will come next in the following series: :
Ty 53 48 50 45 47 7 R
@ 54 | o 39 e
(e 76 (d 69
"o 42 S aroflo! o _ n >
Q';clg.tck-isktOGO"clock then 1400 O'clock is to _ 0’ c']ock.,fﬁ p '
T N - @ 7 Mt
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(a)  Steel (b)  Baseball
() Head (d)  Combat
(e) Heavy
L What will come next in the following series:
2 6 12 36 72 216 7

(a) 648 (b)) 403
(c 376 (@) 432

b (e 288

]2 Complete the given series:

‘ 20 33 46 7

(@ 52 () 56
(¢ 59 (@) 49

: ]3. Complete the given series:
10 18 20 21 30 ?

(b)) 40
(d) 31

. (@) 24
(g 4l
will come next in

he following series:

1002504258?

) 12516

@ 16125
33031 34 EN
S i) 82 |

T(a') \:30



Continue the following series:
3 7 8 12 13 177

| @ 22 2
() 18 (d) 19
21, Bed is to Sleep as Chair is (o .
(@) Sit (h) Wood
(c) Secat (d)  Floor

22. Continue the following series:
25 50 100 125 7

(@ 175 () 152
© 225 - @ 150
23. Kamal is older than Jamal, Jamal is older than Hussain, Hussain is oldem
Wagqar, who is the oldest? :

(@ Waqar (p)  Jamal
(¢ Kamal (d)  Hussain
24. Ring is the Finger as Watchisto ____ -
(@ Arm - (b)) Head
T \ - (d)  Wrist

€
R | 11 ( 21. 0
3‘ e _:.4~ el @ By 42 R 1 22 (d
R L o 13, | o 23. (0
7_, -i_.‘f (c)- ¥ - 14, (b) 24 | (@
: S T N C | R (e

“;.'.-‘i 'Ll 6:’ N (b)

. it (c) . e
it glfd) griqaiion el
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Intelligence Test _5_

Choose the correct ar .wers:
Which one of the “ollowing is different from the rest:

(a) Town (b)  Village
(¢) Township ' (d City
(¢) Heaven '

5 (Complete the given series: )
' 31 8 .15 24 7

@ 32 | ) 34
(@ 36 (d) 35

3. Which one of the followmg is different from the rest:
(a) Fat b)) G reat
(c) High (d) Big
(¢) Small

What will come next?
' G190l 29. 839 ?

(b)
(@)

,ls different from the rest?
_a} LOR peI - Os1 L)

3467 910 7
5' 8



P T o
2 4 7

16 256 16
@ 230 )
@ 2 Jong to the list?
11. Which uor&?ocs pot belong ‘ (b) fioe.
;:)’ Bus (d)  Tram
hi
12 th(;)wor?l d‘:)es not belong to the list?
(a) Mason (6)  Blacksmith
(¢ Tailor (@  Professor
73. One Third of One Half is |
(a) l ' (b) l .
p 8
@ 2 @ 2
6 v 3

14. What will come next in the following series:

S i8usl6s.9. 9 418 10 10 2
(@ 22 " C o (b)
@ 19 @

Ry

UL 115 120 126, 9
e TR LY

. " .
y L E]"'
J | N

~ il D
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e 19 @ 20
20. What will come next?
Z2-S5 0TI
(@ 25 (b) 23
@ 26 , . @ 21
27. Complete the series:
2 6 18 54 162 486 7
(@) 972 ‘ (b) 496
(c 1485 (d) 1458
22. Insert the correct number:
- 5.12 .21 1
(@ 32 () 33
(g 31 d) 24
»3. If Brush is to Painting as Pencil is to :
(@)  Notebook (b)  Sketch
() Map (d)  Drawing
4 What number comes next in the following series:
" 29 23 18 14 11 ? ;

6
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E s NS ;
Intelligence Test _&_
@ Choose the correct answers:
7. A railway station always has: :
(@ A Train - () A Railway Line
(d) A Station Master

(¢) A Platform
2. Complete the following series

234 342 423 ?

(@) 234 ‘ () 523
(c) 432 : (d) 342
3. Book is to Title as Man is to - - |
(@)  Girl (p)  Woman
(c) Sir ' (d)  Name
4. Man is to Woman as Boy is to A
" (a)  Father T - (b)  Brother
(¢)  Girl (d)  Daughter

as the same rati : | "
2. - (b)
~ £ B

- What letter comes alphabetically in order in
(@ E e L, AT '
g M
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12. Which 0n¢ is different from the rest? i
3 (@ Tnangle (b))~ Square
(c) Rectangle (d)  Circle
13 IfA s smaller than B, but taller than C and D, who is the tallest of the three?
1 (a) () D
¢ C @ A
L4 1f Box is to 3 then Boxer is to 4
(a) () 7
c 3 (d 5
I 5. Which one of the following is different from the rest?
(@ Adult ) (b)  Child
(¢) Infant (d)  Baby
(¢ Newborn
16. 1f ACNPNPJL means Book, what does GINPQSRTDF mean?
(a) House (p)  Hand
Horse , (d)  Hero
e is different fr e
|
AD d)
to Gay as Weep is to Sy
; () Weep
(@)  Gloomy

B 77 539
R ) 1078

(d 3377
lowing series:
32 128 ?
: (b) 228

@ 38

= N
— v

] - . v ~u
28 ¥ i - -:l |
(h) Kab
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Divide (d) Separation
Union
Which of the following is different from the rest:
(a) Sun (b) Mars
Earth (d)  Ocean
s Which one is different from the rest?
(a) Potato (b) Rat
(c) [iger (d) Sheep
(e) Il()l..\L‘
Answers
| [ @ |11. © | 2. ()
2. (a) 12 (@ |22. (a) |
. 2 (d) 13 (a) 23. (e) 1
4. (c) | 14. @ |24. (@ |
8 (a) 15. (a) 25 (@ |
6. (d) 16. (c)
Tk (a) 1/ (d)
8. (b) 18. (a)
9. (@) | 19. (c)
10. (8) | 20. (c)
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Y —
Intelligence Test_Z
@ Choose the correct answers: .
. If FACE is coded as 6135 then ACE is coded as
(@ 357 (b) 657
(¢ 135 d 176
2. What letter comes alphabetically in the word Fluctuation?
@ N ®) U
o F d 1
3. If A=2, B=4, C=6 and so on then what word the following number stand for:
8§ 10 10 32 ?
(a)  DEEP A () PEEP
(¢ EPED (d EPPE
4. Which one is different from the rest? _
(@ AD ) IL .
QS (d MP.

(c)

Confess is to Den as Release is to _
‘ : Arrest

(d)  Police Station .
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e 31
21. Single is to Double as One is to !
(@) Twice (b)
(¢) Zero (d)
22. The opposite of Never is " ,
(@)  Always (h)
(¢p Often . (d)

fe)  Occasionally

23. Pakistan is to Asia as United Kingdom is to .

(b)

(@) Europe
(d)

(c) America
24. What will come next in the following series:

24 12 36 24 48 36 ?

Three
Two

Seldom
Frequently

Africa
England

@ 50 () 52
¢ 58 (d 60
er is to Car as is to Aeroplane.
Navigator (6)  Pilot
uel » (d) Load Master
(e) '
~
N~ [ 73* B - (b) - (a)
r ) Ma |~ O g (d)

-
» IB G5 vl =

e [

L&l
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Intelligence Test _8_

® Choose the correct answers:
/. What will come next in the following series:
32 6 43 12 64
(@) 32 (b) 43
(c) 28 (d 24
Insert the correct figure:
9 5 8 57 5 ?
(a) 6 (b)
c 7 ' (d) 8
3. If Yesterday was Monday, what day is after Tomorrow?
(@) Monday (h)  Saturday

b

wn

(¢)  Sunday (d)  Thursday
4. What will come next in the following series:
A C F /4
(@) 1 () K
(¢ H (d ]

5. Insert the correct figure:
3 10 18 27 ?

(a) 36 () 35
(¢ 37 (d 32
6. Skarduis to cold as Multanisto :
(@) Snow (b)) Hot
(¢)  Stream (d Ice
7. Acreis to Kanal as Squareisto i
(@) Karam (b)) Marla
(c) Mile (d) Kanal
(¢) Acre :

8. Complete the following series:
7 8 6 75 6 47

(@ 5 (B 6
© 7 (d 8
9. Heavy is to Light as Roughisto ____ .
(a) Coarse ()  Smooth
(c) Soft (d Wood

10. Complete the following series:
g0 18 15 23 20 28 ?
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@ 23 ) 24

r © 25 (d) 30

. Which word does not belong to the list?

.~ (@ Tiger (b) Lion
(¢) Leopard (d) Wolf
(e) Lamb

2. Inmsert the right number in the following series:
Mo 1 13 16 20 ? -

- (@ 25 (b) 24
= © 26 @ 30
13. Which word is out of list?
.~ (@ Touch (b)  Shout
(¢0  Whisper (d) Sing
14 AistoEas Cisto
B 0 | ®) G
¢ F (d H

> the following series:

() 94
(d 80
-JWhlch word is out of list?
() Foolish
@ Dishonest

i R




[

s 3 trasts Seper

D
AT egar = T lnene Te;c% :
< A I$ g | 21 3 »
@ I3 B 2
. P2 4 iy 73
72 What will cnme i the gest saries”
s 10 L o 3 L 4
b e 73 Ty B
(c) & g n
ey 7L
77. What will come in the mexs serjes”
C H L O Q 2
(@ K B S
@ T 4 X
(2 Vi
24. What will come i the mexs series”
B D E G H 2
(=) C £
(c) F 8y J
(2/ .":
25. Which word daes nat E<lomz to the Bu? _
fay Tor ) Omce
(cj | Pouud () Siome
' Answers
| L | (@ 11 g ‘ 21. bk
f 2. (=) 12 (2 i y2) _____:,
‘ 3. (d) i3 fg) 3. @
5. (%) 14. %) x| B
| 5. (c) is. ' (z) 23

A

16. (®)

\‘
.

17. | )

i8. | {z)

19. : (c)

— 0| o
ol |

= 3 (g
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Intelligence Test 2

@ Choose the correct ans wers:
Which choice supplies the answer in the following?
DOG

If BME =~
Then MLC = ?
(@ ONE () EYE
¢ TWO (d) THREE
2. Sweeper is to Sweep as Washerman is to b _
A (a) Cloth (b))  Wash
(c) Water ‘ (d)  Machine
 What will come next?
- ot} 9 ?
(@ 11 (b 15
(c) 12 (d 17
(e 21 .

hich one is different from the rest?

g) Advocate

Judge

(b)

e)

A

(@ 2830

' 2 (&) 2730

'hat umber comes next?
‘ 3 8 14 21 .29 38 ?
(@ 49 (b)) 48
g) - 50 ' & (d) 65
number comes next in the following? g
5?' 9381 and CALK--> 8391 then what stands for CKAL?
o 13 (b 3819
(d 8193

* aaginen QW aftel ad _ |
e two- oi(k wﬁ&l havﬁ%e same rehlﬂonship as Bird

i/



(@  Only Female are failed #) No Ma‘elis faged '
(¢  Only Male are failed ),  BothMale ancE
o — ' are falled'
10. What will come next? »
7 49 343 2410 ? o
(@ 14807 (b) 16807 . ‘
r (© 14678 @ 16708 3 e
11. Which word does not belong to the list?
(a) Plate () Sugar Co
(0 Knife @, DisB g qeond SEES
(e  Spoon ] i
72. (8 10 6) Divide the largest of these pumbers by the difference of two smgy,
numbers then answer will be? —
@ 7 L ® 5 - ‘
© 15 | o @ 25 i
13. Point out the word which is different from others in the group: o
(a) Dutiful (b) Cheerful
() Beautiful (d) Handful .

(e) Careful
 is to Seed as Reap is to

Crop

,,,,,,,
\\\\\\\\\\

(b)

Sunshine
, _Grain



e
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W S ® 1
o : ;
2 (d 5
8
2
; 3
to Read as Notebook is to
Pen (b))  Write
Pencil (d) Cover
rd does not belong to the list?
. Mile ' ()  Inch
| Foot (d) Yard
g) Acrc '
will come next in the following series:
- 6 7 9 12 16 21 27 34 ?
42 (b) 47
50 (d) 43
49 )
t i ies: :
as Hard is to < .
= : | (b))  Soft
(d) Carbon’
1 then Pets is coded as .
b ) O } (b) 1365
- . (d 5316
~ Answers
1! _ ' : (b Ny 3w (e)
: Wapr 1220 (@)
bl @ - 2R it (e)
G I . m
ek S IR S0 I 'r(ﬂ)
al 19
)
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Intelligence Test 10

® Choose the correct answers:
1. Which pair of numbers does not belong to the same group?
(a) 16-10 (h) 112-104

fc) 1227-1222 ()  967-964
fe) 2516-2509

2. Clear is to Foggy as Dayisto
(a) [Lvening (h) Night

f¢c) Noon (d)  Morning

7. What will come next in series?
11 21 40 i 4 150 ?

(@) 294 () 295
(c) 290 (d) 195
4. Quran is to Muslim as Bibleisto
(h) Jew

(@) Hindu

(c) (d)  Christian

(d)

gL ;‘M‘h Is d|u|mllar to the others in the following:

l‘. _ ()  Bottle and Wine
. (@ Penandlink
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(c) Sheep (d)  Horse

(e) Butfalo
next ir the following series:

- 1], What will come
2 7 24 77 2
(W 144 (b) 236
R @ 99
(e 77
12, Complete the series:
77 25 26 24 25 23 24 22_____
' @ 22 21 (b) 24 23
| @ 23 21 (d) 20 21
~ 13. Lahore is to Punjab as Karachi is to :
(@ NW.EP. ' (b)  Balochistan
(c) Sindh (d) City

4. nght i'i to Eye as Sound is to N
(b)  Ear

l oot
(d) Leg

C
t will come ne

%
| Y
umber].

clothes. [Quote the serial n
(l) {o be fashionable (h) ok arm
f") to look nice (d) because 1t as a.custom to do
hdﬂﬂ‘ﬂlﬁ from tlle rest?
T . () Monday
e e (@) May
is added to the shortest numbe

P

r and divided



(@ STUVXW @ STUVWX
(¢ STUVXZ (d) SUTVXW
1. Write the next number:
6 11 12 11 18 11 24 11 ?
(@ 30 : ' (b 34 f
(c) 45 _ @ 40
)2. What will come next in the following series:
—11-6 ;1; % 9 o 4 o167
(@) 48 ®) 32
© 64 | @ 24
. (e) 80 |
23. Adnan was 21 years old in 1945, how old will be he in 19657
@ Al | : ) 43 .
- (9 65 ‘ ' @ 45
eel is to arachi as Hosiery ist0___—
(a) _Hy () Lahore
' Faisalabad
i i
..Po
, 1.
e . 2.
- iy uecs g 3. - (©) 1 @3 @
3 ot s AY) 24. @
B (e 25. (a)
Gl '
difbhu 0|l ey
oderius Dol 98d ¢
=
ST
PR -'|-| ﬂ
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the correct ISWEers:

o Choose
;. Laughter is to J° y as Tears are o .
(a) Sadness - h) Anger
(d) Sorrow

(¢) Happness

2 Insert the missing number:
7 14 12
4 12 9
o 24 ?
(@ 20 h) 22
(c) 18 d) 24
3. Pond is to Ocean as Shallow is to p
fa) High (h)  Deep
(c) Spot (d)  Space
4 Knowledge is to Learned as Wealth is to :
; ()  Spend

a) Rich

C " (p) Pair

g ik (@) Rips
.‘-"fli‘i'i'l'l» yors 1248

(b)) Rani

{d) Woman
es: "ISM‘A! yw wiksh A0 Band
’ . '
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g 12 10 106 ‘ 12
@ 13 ) 25
© 29 )18
21 Find the odd-man out.
fw). ok ()  Packet
(¢)  Rickshaw () Dhow
24, Find the odd-man out. |
| @ 23 (b) 422
() 549 @ 612
25 Find the odd-man out.
(a)  Playpen () Bed
(c)  Chair ) Table
Answers | |
1 d 1. ¢ 21. d
2. - a 1Z. a 72, K
b 13. b 3, :
3 d 24. b
7.;\.'5 .
-
19."
20. d
g B i
TRt TR
. |
a ,J_“- "ﬁ'-‘;& AL




Intelligence Test 12

i . Choose the correct answers:

s ﬂjdﬂle odd-man out.
(a) Ant (b)
(c)  Spider ' (d)
2.  What number comes next?
BY CX DW EV FU ?
@ TG (b)
) GO _ (d)
3. Which one is different from the rest?
(@) Cook ' - ()
(¢)  Advocate ()
4 What number comes next?
3 11 4 13 5 15 6 17 7 2
- (@ 21 (b)
(d)

(c)

yumbers come ne

19
l’

Bee
Moth

TS
GT
Judge

Magistrate

20
23

111213 14
L0322 13
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. 9 2 | @ -9
s What number comes next?
3 6 12 15 1
@ 24 () 18
© 27 ' @ 21
Whit Jetter comes next in the series:
e k7 oV 7
@ S w T
' ¢ U : @ vV
Cotton is t0 Quilt as - isto Blanket. .
(a) Wool , - - (p)  Pillow
] (¢ Silk _ (d)  Softness
4, Which letter is as far from L as far from J? .
m T

() Diesel
(d) Road

next in the following series:




L e B
N \

(¢ 120 (@) 129
22, Which one is different from the rest?
(@) Char : (b)) Blue
(@) Yellow |

(¢) Red
23. Beijing is to China as
(a) Lahore
~ (¢) Islamabad
24. Food is to Eat as Milk is to ;

is to Pakistan.
(b)  Karachi
(d)  Peshawar

(@) Drink (b))  Water
(c)  Sugar (d)  White
25. Snow is to Mountain as Sand is to
(a) Field ' ! (b) . Plain
(¢)  Forest D (d)  Desert
Answers .
s c 11, b 21, T
2 d 12. c . et T
. a 13. a 23. e
' _ % 24, h
: | :
1
(& 19.
b 7 a 20 (&
S
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Intelligence Test 13_

@ C(hoose the correct answers:
;. Find the odd-man out.

(a) Allama lgbal (h) Ierwan Khas
(¢) Hasan Sardar (d)  Aqib Javed
2. Insert the missing number:
4 7 9 11 14 15 19 2
(a) 17 (h) 5
(c) 19 (d) 9
3. What will come next in the following series:
34 24 16 10 6 ?
(a) 7 (h) 4
(c) 3 (d) 2

theodd-man out.
Student

(h) Professor
(d)  Lecturcr

| = W O
’ (d) SN9FS
the missing number:
16
28
?
30 g (h) 40
(d) 50

(h)  Khushab
Quctta
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(¢) 4561 d 5416
10. 1f 124351 stands for Newton, then 3512 stands for .
' (a) Tone () Neow
(¢c) Town (d) Note
11. Find the odd-man out.
(@)  Lungs (b))  Blood
(c) Skin (d) Bread
12. What do all the books have? ,
(@) Pages (b)  Pictures
(¢c) Verses (d) Questions
y 13. What will come next in the following series:
ey Ne- Q0 7
(@ R ) K
(c) S | d F
14. Complete the following series. '
Oisd2- " adfi - 3
(b) 28
2
S
) A
(d)-  Tuesday

® s
@ 8

% 7
®) 34
@ 30 :
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42 2 84 2 93 ?
: (@ 8 - b)) 2
_ c 3 d 6
22 Find the odd-man out.
fa) Rose (b)  Lily
¢ Tulip (d)  Turnip
23. Find the odd-man out.
(a) Ravi (b) Sutlej
fc) Indus (d) Atlantic

r 24, Which onc is different from the rest?

fa) Heaven (b)  Town

(d)  Village

(9 City
25. Which one is different from the rest?
(@ ABC b)) XYZ
¢ KMN (d) RST ;
ers N
a
il
132 c
b 16. d
< - 17 b
a . 18. a
- g c
g S S 20 c
ioe Vs
Rhbas i
® oaach _
e )

T
: ' .lﬁ‘-ﬂnﬂﬂl s _



® Choose the correct answers: by

1. Find the odd-man out. .

(a) England ' - (b Beymg - 3
(¢ Lahore (4) Karachi =
2. Insert the missing number: | g ™ (5
8§ 4 6 3 4 : . I .

(@ 4 o (B) el =N
e, 5 (/S . o

‘3. Find the odd-man out. ' s
(@) ABC () DEF. ‘i
(¢ GHI @ PMO

4. Insert the missing number:

53

osphere

@ nd

@) 358 -
@ 360 i

®  WoolandStool
Oil and Lamp f

) Book and Leaf
' ‘ lor andC]oth




Vi
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(c) l'eacher and Student (d)  Flower and Petal
73, What will come next?
4 8 32 S 9 ?
(a) 42 (h) 10
(0 45 (d) 64
74, What w ill come next in the following series:
AC F ?
} (a) H (b) J
! © K L@ L
;5. Find the odd-man out. _
(@ Cat (b)) Dog
(¢) Snake (d)  Fox
76. What will come next in the following series:
18 13 9 6
(@ 4 (b) 2
(¢ 3 . . (@ 8
17. A Metre is to Distance as a Clock is to
(@) An hour (b)) Time
(¢c) Watch (d)  Alarm
18. Which one is different from the rest?
" (a) May (b))  April. —

(d)  November
" as Tomorrowis to :
= (b) " Today
(d)* Motion

‘ 9 W
(b) 42 |
, (d) 40
Answers
15118

a
12. C
13, C
14. b
15, ¢
6. a
b
C
d
a

]

17. .
18.
19,
20.

ale |lolal|lc|lale |

b mm—
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Inteiligence Test 15

@ Chuner lr srvo: smcsmor -
J M s Nond s '® T argenter
9 Crmaesen ®  Yachkomrh

) widrmatt d she
PR O R P ee—
‘o » r‘:;‘:;; By .4 5|
, ] ~rE—
s ..A,J,’_.l. ad o me s .

¢ leeert e missine ymmiber
Z 3 5 & : 3
L & - -7 3

=

& & sehonl stwavs as-
' & Leacher 7

for ~aSSIDOm
Wiat wiil come nexr in the oilowme seres:

R

-




y "' ﬁ

12 A Rallway Station always has:
- (a) [ram
b
(c) A Railway Line :dj : Station Master
13. (omplete the series: Platform
(a) 4 D
(c) 6 @ 4
14, Complete the series:
Al 4/C E/6 ?
(a) £/G ®  6/C
(c) 4/D (d) 1/G
15. Find the odd-man out. |
(@ Apple B o |
(o  Orange (d)  Tumip
16. Find the odd-man out.
(c) 34,68 @ 3678
17. Soap is to Dirt as Petrol is to
othes
5
0 832 @ 438
1 25 2%
1312 x 225 =54, 127 x 407 = 110, 54 x 36 = 126, then 125%232="
@ 70 (k) 82
(0) SOl @ 116
Listen is to Hear as Look is to -
(@ Watch (p)  Observe
(c) See i . (d) . Notice
I . B
: oo et L WEETR. L :
_' ol b e A
i Wy 4 -




Intelligence Test _16_

® Choose the correct answers:
1. A Lakeis to Land as s to Occean.
(a) Water (h)

Island

(c)  Ship (d)  Beach

2. What will come next in the following series:

EoV E,W  E;X E.Y ?
(@ L7 : (b) l},Q
B EW (d) E.P

3. What will come next in the following series:
' X U Q ?

@ Q () L
¢ R \ (d P
4 A Mumc:pahty isto Cityas . is to a State.
(@ Mayor = - (b)  Governor
(¢) Legislature (d)  Judiciary
5. What will come next in the following series:
326 43 12 64
(@ 43 (b) 28 -
(d) «32.5
(b) narity

» (d  Intelligence
' t:ally in order in the letter MOTHER?




747 » 413 - 132

baes 912029 ° ?
@) v B 147
Z R & 157
»A is som of B Do’ js mot A’s father. What is relationship of B 1o A-
' (@ TFater ) Uncic
(d) Grandfather

fc) Mather

u W hat will come next?
"4 16 18 20 ?

(g 2} b 22
. (c) 23 (d) 24
15. Fridas js to August 23 Sundavisto
(a) | ucsday 6) December

v
() Ocuwober (d) November

b word does not belong to the list?

16 Whic
L (a) Sugar (p)  Dish
(c) Spoon (d) Plate
VAL w4=2,2%x4=83x% 16 = 36,4 » 9 =48 then 5 x 36=7
§ 180 ) 150
30 ‘ (d) 125
Wowing serics:
- ?
3 w34
@ 30
20 .
7 h) -l
. d) 0 i
o Time as Barometer is to
Mercury (h)  Pressure
Gias Cylinder (d)  Temperature
| Answers
- , b 11. b
e 4 V2 d
by 13 c
i@ 14, b
S 218, ¢
B 16. a
. . . L7 b
SHR b
';‘ 19. . b
ok i C
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Intell ig"'e_n't‘e Test 17_

® Choose the correct answers:
I. X and Y are two brothers. B is A’s brother but A is the mother of X Wiy
to Y. i
(@) Father (b)  Brother
(¢c) Son )  Uncle
2. Breakfast is to Lunch as Lunch is to :
(@) Meal (h)  Fast
(c)  Dinner (d)  Refreshment
3. If Rat is to Tar then Pit is to . 4
(@) Tip (b) Fit
(c) Bit (@)  Sit
4. Insert the missing number:
1212179 146 113 2. s
(@ 60 _ () 50
() 70 ' . d) 80
/rite the . which is different from the following

(h) uive
) al

)

) 85
@ 60

® TTVR

@ “MMOP . -
ow wo'”

coded as 93596 then h



—
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and 3165 stands for Late then which choice stand for

If 8514 stands for Bead

- mpie
the word Table? .
: (@) 61835 (h) 61853
(c) 86145 (d) 61358
12. Supply the miss’ .g letters in the following fractions.
T, JSs, M/R, PQ__, _
(@ A/P,V/O , (b)) S/Q,UNV
(c) S/O,V/P (d S/R,VIM

13. Bathing is to Pool, as Skating is to!
(a) Snow
(¢c) Stable
14. Honour is to Brave as Censure is to
(@) llonourable
(¢)  Respectful
15. Find the odd-man out :
(a)  Student
(¢) Books (d)
Complete the relationship in the following:

(b)  Rink
(d)  Costume

(b))  Coward
(d) Common

(b)  Engineer -
Teacher

@FE:is to GJI as SVU is to
(¢ (b) XYW
B (. VXX
ds for World, then 7252 stands for ‘ TIPELEI
. R [ICEE 4B | ¥
e BN (@ Lord | “th
) ﬂ'%fe pair which is different from the athers in Sthq following.
7~ Work and Play ) N (b)) Mellow and Sav .
(¢) Mutilate and Main (d) ]c\e:rn'c'l ahd‘Dfaf%g%y —
xpress the word MELODY?

If STRIKE is written as UUTJME, how will you ¢
@ OGNQFZ ) NGMQEZ
() OFNPFZ ) UFMPEZ

Find the odd-man out.
- (a) Window : (h) Stable
(g9 Hu (d)  Den

Answers

11.

12.

13.

14.

15.

16.

17.

18.

19.

-ﬂd&>dc>nc
P P P P A e e P P

20,
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Intelligence Test 18_

@ Choose the correct answers:

I. Laughis to cry as is tosad.
(a) Tears () Happy
(0 Go (d)  Smile
2. Find the odd-man out.
(@ Long (h)  Chop
. (¢ Cut (d) Shave
3. My mother is the sister of your brother. What relation am I to you?
(@) Uncle (h) Nephew
‘ (d)  Son-in-Law

(¢) Cousin
4. A mare does not always have a !
' Teats

(@ Tal - (b)
(d) Tecth

(¢ Colt
5. If 5234 stands for Ring and 6109 stands for Fast, then what does 095234 Stand
for?
(a) Strong ' . () Spring
' (@ Stnk

(c) String
isnto ar asC

End
Door

Twe

() 185

= 2y . (d) 190
er b ut twice in Ranger"
) b) e D
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b (a) () (b) F
= {c) | (4, I
13 What letter comes next in series?
b ¢ F J 0 ?
. (a) S (b) U
{c) \Y (d) [
4. What will come nextin thchfollo“ing series:
Z N\ U Q ?
oh @ R b Q
2 © L @ P
15. If Fight stands for 74352, then Fit stands for .
(@) 472 (b)) 274
e 1 (c) 742 (d) 247
~ J6 If where stands for 34525, then. Were stands for }
F- (@ 3552 (b) 5523
(c) 3525 (d) 5325
J7. What will come next?
2+ 2-1 =H
: 2+6-5 =W
: 6 - 2 =?
N
one is di
a)
7
40 ) 30
45 (d) 35
different from the rest?-
i LO: 4 : (b) DG
RHK ailgonh G4 (i AC
e QQWﬂS
p e, i O ki 1l.
1 S PO
i TS,
i Lorg@tiot o T (B

-

il ,rf,.l |\T_ : " .] ..:
.~ *%"_ R | i} ¢
1 { R !
AR
o R
. 17

3 41

u/ 3 I
frar il

A?~ukﬁwonnw>>

=
S
=3

i)
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Intelligence Test 19

@ Choose the correct answers:
1. What will come next?
§ 127 149167 ,
(@ 8 ' (h) 18
(¢ 11 (d) 20
2. What number comes next in the following series:

ABCD BCDE CDEF DEFG ? : \
(@)  EFGH (h)  EFHG

() GHEF () EFGHI
3. Which one is different from the rest?

(@) New York . (b)  Lahore

(¢)  Beijing (d)  Tehran

hich one is diff

=

~ 6. What will come next in the following series:

6,9,13,16,20,23 ° , , :
SRR EED6,20 ®) 27,29
R ) D7 B0 | @ 26,30
7. What will come next in the following scries:
R 17,24,32,41, __,
8625 - . () 52,64
- & @ 51,61

ays ____than his daughter.

L BRI Wiser

e o (49 Experienced




or is 10 petrol as Twack is fo > v 2 BT &

- qeooter B : :
(7. Sco o Fuel (h) acsel
o  Oxygen (d)  Petrol

ne next in the following series : AP SN

\\'hﬂt “'i" co1
. ’] 5 lq 7 17 9 L e i T

@ 1511 ‘B 13,74 . : il
© 11,7 W 1513
.» What will come next? .- e s
" \CEG HJLN OQSU i iane -
@ VXYB ' 4 ' (b)) VXYZ
@ VXZB (d) - VXZA

74, If you are the eleventh in a queue starting from elther end, how mar

are there in the quene:

(@) Twenty-one : (D) Twenty
(¢) Eleven (d) Twenty-two :
15. If Dozen stands for 35712, then Den stands for-Uass
(@) _..312 a=rsects (k) 123
(¢ 231 | % @ 213
/6. 1f Guide stands for 35 »_i”
(a) 35; e g
(0 153 emm
I7. Flexible ‘is_toms
(a’)f?".‘ " Gold
(¢) Zinc
8. Sky is to Acroplane as Landisto ___.
(@  Train (b))  Cart
() Car " ‘

19, w : o
% What will come next in the series?
e 8 63 . 2

@ 6938
0.1f 9 wPe . e
12345 means Claim, then l32§ tands for____-
@  Male o
©)  Salm 8
"3)'“6“‘ S(ands fOl‘ 25} P
?v 1426 - &
213300
2334576
sta



s n?

erin

23. Which one is different from the rest? RPN
(@ Mango (h) Orange -
(c) Melon ' (d) Carrot A 1
- f -kl . ) )
24. 11 215734 stands for Nature, then Near stands (();) __2_2_‘3 , .m- » ”;“’ .
(€ 1342 @ : B
25. 11 75312 stands for Sweat, then 712 stands for . 2 17
(a) Tea () at & re B %
©  Eat (@  Set e
Answers | e
1 % 11. b 21. " 2
2. a 12. a 2. | a
- a 13. c 23. d
4. c 14. a 24. : a
5. b 15. a 25' ' A% | vf!b. 1w
6. c 16. c : '
7. c 17. b
c 18. a
1
| . ;J'-_‘-;I'f 1) av 1n 1

. \ : I.’

s e ., *;ughju‘mf ara g

JI : R N TR
".‘ : : i - » .u\'._)\‘ L‘V
o b i ol e

- "l:r'_"‘ = ;__ K

- .
e
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Intelligence Test _20_

<e the correct answers:

is to Air Force then Airman is to . '
(b) - Shopkeeper

(@ Navy
(¢) Cobbler : (d  Army
nisalways___ than his son.
fa)  Taller ()  Older
(¢) Darker (d)  Wiser
¢ will come next?
10 19 20 29 30 __ , -
. (@) 25,26 (b) 39,40
‘¢ 31,32 (d 27,28
ich is different from the rest?
Book (b) Plate
5 ) ' i (d)__ Cup
rdis it : ollowing:
Gt . ¥ ®) ShOP i,
4 @""”‘&Afkgt
()  Guyrat
ek _ (d)  Multan
Iphabe ally in order in the word “Budget”?
S () D
L @ B
xt in the following series:
(b)) 59,76
- : @ 59,75
llowing series:
5 524 6l ‘
‘) 16
T 543
e ) 16

: 5 N 323

- 1'-_
~ !
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’ (a) 80 ‘ (h) 78
(c) 75 (d) 77
71. Find the odd-man out.
(@ Oil (b))  Lamp
(¢) Candle : S i@} Bulb

72 It take two minutes to boil an egg. Then five eggs will be boiled in___ Minyge
(@ 20 () 2 b
(¢ 15 ' (d) 10

13. What will come next in the following series: '

1 8 64 512 .7
(a) 4069 (b)) 6904
(c) 4096 (d) 6049
14. What will come next in the following series:
7 11 16 22 26 31 2
(@) 34 ’ (b) 37

)

he ”i“f aw | .(d)  Uncle

s alph _gbeticilly in the word FLUCTUATION?
| ol BT )1
. . T . @ F
different from the rest?
L (b))  Universily
e (d)  School

— (3 - Rabbit
- (& Shrimp
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9, yoel,

i .b)}?l; A A A AR

7 IN
5 :

) (TR & LAY P

: f gabto sins pik}

(@) Mardan (b)  Karach
(¢c)  Peshawar (d)  Quetta
»3. Complete the following series: .
. 1 100 2 99.37
(@ 98 (h) 90
(c) 97 (d) 93
24, Which on¢ does not belong to the list? ;
(a) Sparrow (h) - Crow
(c) Cat (d)  Parrot »
25. What will come next in the following series:
4 9 16 25 36 49 /4
(@ 060 ' (h) 54
(c) 53 (d) 64
Answers
a 1 a 2K
2 h
. C .
_ AL 4.
i
ool My TIUIay 6.
S R 17. b
S | A W) a
R AN O N e b
Sl e 2O b
SR IR A

ﬂlg‘u.ﬂ sdara il
a:‘g“‘hm'h |

u‘ |1 :«f}.c

N ]

gi; ouls

T ETITaE A

=
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Non-verbal intelligence (ests; also known as matrics test :
presence of mind, lot of common sense, unwavering altention, ;e?iulre
These tests do not require any prpﬁmency in any language to SolVenth shagy .
MoreoVver, candidate is not required to draw any figure or diagram The Prob
form of figures, designs and drawing's "fVl(t]h |
Gy

in these tests is the problem in
rs are given and the candidate is requireg
i

question, various alternate answe
the correct answer and to write 1ts number only in the space provided for |
rit m&

separate answer sheet.
Non-verbal tests can be o

objects, naturc of functioning €tc.

most relevant and commonly used

(i)  Series, (11) Analogies, and

Series: Series are those types of fi2

s: Series are [ figures where the occurrence of each itz
»ecomes 3 series mr;__tself._ The movement oOr position of the figure can®
he basis of .

fMﬁl{}!ﬁme of the previous figures. These mak::
3%_,_“9 ¢ thp ﬁrst diagram if one ling.s shown,

' Crialel! 1es. Similarly, the number of lines goese
A Y :

f various types (:!epending upon its relation wit
But for brevity, we shall be discussing Only: .

test. These are mainly of three types, viz
(iii) Classification.

T~ 3 ‘ !
called problem figures. Thest fos §
' change from left to right 2"
asis of thesc figures tha! if
would be the shape of theﬁ:
alled answer figures. They
ct the fifth most &P

s &
g f._';,[” ﬁ'

v T
4
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nt positions of two hands of a watch problem figure.

«0o differci
ghowing GITeTer VT

L

\ R oy

.

|

e

-
|
|

i
| |
. |
. } . > i

From the above problem figure,

difference is one hour and fifty-five minutes.

O'clock, the second figure is five minutes to four whereas the third figure shows

ten minutes Lo SiX and the last (fourth) figure shows quarter to eight. If we again
will be twenty minutes to ten. In

add one hour and fifty-five minutes, the answer
the answer figure, the minute hand should be at 8 and hour hand should be nearer

Phus, figure 1 in the answer figure is correct. i

"'gf'a. In analegics type of nom-verbal test, the figures, designs or dra_w:'ings

siven in two t! he first repress mc__problcm figures; f€ene of the
s missing. T idatc has- nalysé he problem fro ¢ given
efaily najaed as ‘afswerfigurcs’ ppropriate figy

0l 1 box. Analogy 1 emn‘s ag-eomml or
_ tween the thihgs whichi are  otherwisc
st Sometimes, the problem figure is presented into two units. The first unit
s two figures and the second unit contains one figure and a question mark
d in the space allotted for fourth figure. The candidate has to find out

of the answer figures should be in place of the question mark.
Problem Figure ' i1t Answer Figure

2] -

gure, there exists a relationship between first and
ade of four rings and the second figure contains
Sf five rings where the fourth figure is to find
choice 2 is correct as it has one more ring than

it is clear that in each figure the time
First figure shows the time as 2

sndence in
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qurés e answer pzlllCﬂl 1S CxprcsScd -

Along with the below lhrcc fi
~ is 10
f E }l\lu () mmO :
: =1

0] © 2]

8 e third and fourth fi figure

: an say that th
ave. Since the third § figur,,

From the above description, W€ ¢ b
p as the i first and second 1
circles. Hence, answer figure Ch

b

two.

have the same relationshi

l\ a CII'CIC SO th fOUl‘th Sh()Uld have
f urc IS also
oblem g gIVQn in

pt one figure does not hay,
¢ figure does not t gm"'
h f'gure docs not gmg:

correct choice.
Classification: In classification, the pr
answer figure. In the answer figure, all exce
ationship with othe ther words, on
to find out Wth

s 16 1316

S SpCC S Ll

»
? €

) -l ; e z
In the above examgle there age‘ff:‘fe f igures. The first four belong fo o
: ?1 as (he ﬁﬂh is triangle, docs notbehg

‘.they reprqseﬂt h:r g. cing

P ?L& c‘)]~ i /
at the 1tcm whlch does not fit with i

'trui-'
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A5
CLASSIFICATION

-
- Pt i P D ea——

’f"""'-"’

""’
P
e —

| pircction:

The following pre 15
five figures 1.2, 3,4, 5, four arc aimhil

the other four- Choose the figure which

sblem figures themselves are also the answer figures. Out of the
ar in a certain way. One figure is not like

is different from the rest.

, 2 3 4 ?
2. N
® ® |
mnnnn
_l-
A +
T 3 8 it
a[c A
alele] [t g
T EEsl Alglc
it . E e’
ot il o
- .:L

-~
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f%@%fm@y e%mm

1. (5) Except figure 5, each figure is
made up of two different types of
units contain at least one circle.

(5) Figure 5 contains two circles
whereas. in all other figures only
one circle is attached to the end.

(5) Except figure 5 all other figures

contain identical figures in each

square. -
(4) Except in figure 4 each figure
contains v A, B and C are in the
straight row horizontally.

(5) Excepl figure S5 each other
triangle is divided into 3 parts
whereas figure 5 18 divided
n three parts.

two arrow heads.
(4) Figure 4 contains dot in the
centre of the crossing whereas in all
other figures dots lie in the lane.

0. (1)A E 1 and O are vowels of

English Alphabet whereas P 18

. consonant.
2 10. (4) Except In figure 4, common
- | partofthecach figure is blackened.
[ 11. (3) Circle is enclosed in a square
|+ wh reas in all other one side of the

1 gdo

‘F - U

.“.1 !‘ -‘ I_\; ﬁ rckgyd Whems V
figure 4, each other

i

A WG R
[

S




16,

17

IR,

19

20,

v i &

23,

24,

hcreas thcr ﬂkuré 9
(5) Except '
figures square

"@?;Dggar's Unique up-to-date Super Intelligence Tests@ *

(5) Figures 1 to 4 are in systematic
manner, ABC, D, CDE, DEF
and figure 5 shivwid have EFG as

the name of the edges not FGH,

(3) All figures except hgure 3

contain two different geometrical
figures whereas figure 3 contains
only one geometrical figure,

(4) In figure 4, central loop is
blackened whercas in other figures
side loop 1s blackened,

(2) Lach figure except figure 2
contain dot inside the triangle.

(5) In figure 5, both
shaded whereas

parts arc
other
only one part is shaded,

(5) In figure 5 the central square 1s
shaded

fipures

whereas n
ware shaded,

others  side

5

27.

28.

29,

30.

31,

35,

is blackened

(4) All figures cxcept ﬁg“te 4 are
made up of three straight ling,
whereas figure 4 #s made up of foy,
straight lines.

(5) In figure 5, arrow heads point iy
different directions whereas in )
other. figure arrow hecads move i
same direction.

(2) In figure 2, the Sha('led part is
more than half whereas in all other
it is half.

(5)J, I, Mand A stand for January,
February, March  and  April
respectively while T does not stand
for any month of the year.

(5) Except figure 5, each other
figure contains two shaded balls
whercas in figure 5, only one
circular portion is shaded|

‘I'he por

indicate different direction.

(ft) In i"lgurc 4, left half part of the
figure is blackened whereas in all
ght-half of the picture

others the i

e e o e o ok e o o o o

-

tion of the Swastik is

the arrow
ne direction whereas
i other figures, bLoth the arrows

fﬂ',“ s
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»~
"09’-—-0——. L .

'i,.‘\nio"-‘: lfa the prohiem Ijgurcs, there is a definite rel
figures * and B. Establish the similar relationshi
and 1" by choosing a suitable figure from the st

Problem Figures

[HERE,

D

ationship between
p between figures ¢
of answer figures.

Answer Figures
R R L P R

] 2 3 4 5

Problem Figures
NeIN.. _0#
A0 1550 ol ?
A B c D A e \® ;?
’O.Z_{_‘ .O Ol A

4

Answer Figures

.>'C:')<<

4 .
‘Answer Figures
W o

3.1 *w U -
Faln 1 K h [
LJWF ¥ 4 .'
B — v
N
e 1 .
) 1




problem Figures ___




Answer Figures

B C D

+®

1 2 3 4

Problem Figures

10.

Answer Figures

NOIOIQ

1 2 B a4

Answer Figures

| |
D ¥

L

ra > | € >

A

v v

4 5
~ Answer Figures

4 3
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Problem Figures

Answer Figures

]

/N

A

B

N

i

=

L1

C D
S [ [ s (SR
> | —M|>—*
CO | [ T
V) ? .
C D Answer Figures
e D s
e { - N .
"‘r t) A Ans Fig

(

-
N L
o Bl
1f il
21
d ¥ A -
R ) -
.
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Problem Figures

[lSlX?

~ Answer Figures
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-
A E C D

Proiem Flgures

:’/ /| ifl,’J

b (. ¥]

i

o [

L

2 3 4 5

Answar Flguros
|ll“|ll|l‘llul \ |||“||ln‘] l“”m \ W'
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5

EERJN

; 2 3 4 5

B

¢ E RN ERR

P R 1-.

___Answer Figures
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(O(ﬂiﬁ//ﬂlld/lﬁy e

been rotated through an angle of 90° in the anti-
O.n _analogy, we get the answer figure 2 from
A is rotated anti-clockwise through an angle of

d vice versa to give figure B. On analogy, in
btained from figure A

(2) Figure A IS
direction gives figure B.
figure C. 2. (5) Figure
| 45°. Black portion turns into white an

figure C. gi.vc answer figure as 5. 3. (3) Figure B can be 0
by rotating 1t through an angle of 180°C. On analogy, answer figure is obtained by

“rotating figure C. 4. (3) Figure B can be obtained by rotating figure A by 90°, and
adding onc arrow. On analogy, the answer figure.(3) 1S obtained by changing it
~90° and adding one arrow. 5. (4) Figure B 1s obtained by dividing figure A into

two cqual parts and on analogy answer figure (4) 1s obtained by dividing the

C into two equal parts. 6. (3) Figure B is rotated through an angle of 90°
to meet outer circle to get

1.
glockw
 the problem

IS¢

'~ figure
_and the line in the middle is extended on both the sides
in figure C give answer figure 3. 7. (2) Figure “,ﬁx is
answer

©On analogy, change
i B. Similarly, figure 2 in the

ng the

W L ~to two parts in f1gurc
o0 Sabetitated for fighte C.8.(3) Figiite B is obtained by e lacin
.Pm g line g s, figure 3 can Pe well= ;66'1%3 vacant
e ‘ (0.4 ots are shiftec Joposite sides of the other figure.
us figu S C tc : alogy ea : 3)’”19 posi.tiQn thrmgle ‘
: n figure B. Simﬂhrlys‘iﬁqﬁa@jé@d A

1. (5) The direction of arrow
milarly, when the direction
figure 5. 12. (5) Figure Bis
double the answert figure

A Similarly, when {
13. (3). The only difference in figure A and B is the
hand side to right hand side. Similar change
lution. 14. (5) The position of
ure B. Similarly, the position of triangle in
ence, answer figure <5’ (i) is the correct
. along vertical gides and the shaded
ack portion in figure Cison
D should pe along the
hoice. 16. (4) In figur®.
C contains
;,‘ msWer

beeumterchanged in answer figure 3. 1
-d in figure A giVes the figure B. Si

ersed in figure C gives the answer
he figure C is

m e

U

"'_‘E




m whereas in figure B letter V i chown, which is'ﬁvc-fold of A, Iy
X is shown and hence in figure D ‘L' 1S (he right choice: 18. (2) The m?“.f
vertical lines in figure B is double of figure ‘A", Similary, in ﬁgu,e'g“'v;,
vertical line should be double of figure C. Hence, answer figure 2 ig (b, Iy

choice. 19. (5) In Enghsh alphabet A is to D and a similar relation existg oy
Jence, answer figurc 5 is the correct chojge 0\

alphabet between @ and p. | O %
The central square when climinated from figure ‘A’ BIVES figure B, Sim Q
when ‘we change the central square of figurc C, we gel answsr.ﬁgul-c 2.2 lﬁ,
d to one side W 8

figure A, stripes arc attache hereas in B, the stripes are aty, A
gure C, stripes @

alternate sides. Similarly, in fi re attached to one side and in f \

‘D’ there should be stripes attached to all the alternate sides. HenCc’ answer
J letter of English alphabet f; "

3 is the correct choice. 22. (5) B is the secon ;
beginning and so is the case with Y from the end. M 1S .the 13th letter &Om&
d. 23. (2) Figure B is obtaingg

beginning and N is the 13th letter from the en
. - nilarly, figure D can be °btained
b

figure A by adding on¢ horizontal line. Simi
ing one horizontal line to figure C. We get answer figure 2 as correct cf,
of three similar type units. Figure g

¢ 'A". Similarly, in fi o
S ]’



ections:  There are two sets of figures. One set is called problem figures.
Other set 1s called answer figures. Problem set figures form some
kind of series. What you have to do is to select one figure from the
answer set figures w hich will continue the same series as given in
the problem set figures.
Proglem Figures

f i [on [ [amn

Answer Figures

Tt I {nnanj (]| I

1 2 3 4 5

Problem Figures

A | AN | AA |[AAA

Answer Figures

'* L AaanjAAAAAAL AA |NAA




Problem Figures

e

A|

Prohlem Figures

B[E

o
-

Problem FIQU"GS

Ea

i

Problem Figures.

FPPIPI
| 4 5
1
Answwﬁw
C OIS

MR

i

it

iy
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Problem Figures

CIEIER
anjoal00

A O

00

Problem Figures

B

X<

Za

Problem Figures

) LD

m——.

)
@
N,

Answer Figures

R

OOGAPO

|

A 0[O0
3 4

O A
=

Answer Figures

O
000
O

O
O




Answer Figures

#O A O
A

<>

A

Ao

problem Figures

2 3

<~0
4

“Answer Figures

5

- e

~ Problem Figures

- - -
sl 5’ = -‘ﬁ_l : ::»:( -
pe i ne V4
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problem Figures

s

Answer Figures

Onlo” |
o—ooooﬁooi!
0

2 = 3 TaNiey

-5

Answer Figures
4

2 3

: nswer Figures

EE:;

1
. ‘J‘ F




25.

Problem Figures

-

.

Problem Figures,

Answer Figures

L]

L

3 4

Answer Figures
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Problem Figures
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11
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Problem Figures

: |
- - ¥
Y - Answer Figures E
f
&
E

1 |

R

E E&gt:gmi
3

_———T_— 2

34 Problem Figures

a@){ ' . ‘Answer Figures
©@©00O

1 2 3 -4

)ﬁ

ya mv

w _k t

y one in alternate fl ure, ll
( ) The number of leaves

ﬂh ncm in the series wil
= inerease by one and then
er, . e the next llcm in the series will be as shown i
" ' -uuomcs in the anti-clockwise divection through
Wﬂ lel o the one already there (o obtam
anta 1 0 ele inside the thangle. llcmc the answet
”vr number of straight lines in each comet
HE direation. The answer figure 1 will ahOWN
tdo m second figure two
2 5 will form a series. ? (3)
s continues in ol

w',;ammmﬁﬁ

twomows.
3 wu
ler “-‘m :
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ure in the scnes. Hence, answer figure 3 will form a series - ™
g tmangles on the hook have sgmc direction i: H:;L?Afliglﬁﬁs)gu}:e t}'})]OSIllon g
alternating in the cach consecutive rigure. Hence, answer figure 4 will form a sgiegnolvze
(2) The number of squares as & ell as the number of circles are increased by one in alter-
nate figures 1n 2 scl order. "ie answer figure 2 will form a series. 13. (3) The number of
circles mereascs 1N alter \ate figure by one whereas the number of dots decreases in
alternate figure by onc. Hence, answer figure 3 will ‘be an appropriate choice. 14. (4)
AITOWS are increasing by one but the direction is changing in alternate figure. Answer
figure 4 will be an appropriate c_huicc as it will form a series. 15. (2) In problem figure
the cross-shaped figure moves n anti-clockwise whereas the triangle and circle move
clockwise direction. The answe, figure 2 will be an appropriate choice to form a series.
16. (4) The number of bigger circles as well as the number of small circles increase by
one in alternate figurcs. Hence. answer figure 4 will be an appropriate choice in forming
a series of events. 17, (3) The straight line dividing the triangle into two parts moves in
anti-clockwise direction. Hence, the answer figure 3 will form a series. 18. (3) The
triangle shows movement clockwise at right angle whereas the mathematical signs within
the triangle show movement in the anti-clockwise direction. 19. (5) In each successive
figure, some portion is added in a set order and hence answer figure 5 will form a series.
20. (2) In first problem figure, only one circle is given, in second problem figure, two
circles are given, onc morc than the first. In third problem figure, the circles are gained
with a straight line. On this basis, answer figure 2 will make the series continuous. 21. (5)
: gures rotate in anti-clock wise direction through a right angle. 22. (1) One
eircle is removed gigeach successive figure. The next figure in the Seriés
gure 1 CQT,‘}PIF“’S the series. 23. (1) The circle and blogk
sotion, Answer figure 1'completes the series: Henec, answer
shaded p%’ftf(m movyes clockwise two steps in
T1€s.

roplern

ure 4 complete the 5. @)gghg.jﬂ]ick line first moves in the
' ard diree 1 specific manner. The answer figure 2
e, 2 2) e problem 11 MO" '@Wise at 90° and hel‘lCC
2 will be an appropriate choicc Ior furtherance of series. 27. (3) The
oblem figures are increasing by stages. The last prot em figure is right
(t item in the series will be an obtuse angle. Thus, answer figure 3 is an
ice. 28. (4) The position figure T is changing clockwise at 90°. The next
s will be answer figure 4. 29. (3) Problem figures 1 and 2 show one line
ackened. In prob]em,ﬁ res 3 and 4, two lines of letter N are blackened.
s, the fifth item should as shown in answer figure 3. 30. (3) The letters
iares ha  arranged in a definite sequence. The second horizontal
re becc ¢ first horizontal row in the second problem figure.
eries continuous. 31. (5) The problem figure 4 1s
y, the next figure to continue the series should be
‘with answer figure 5. 32. (3) All arrow
e of one head in each figure. Thus,
erance of series. 33. (2) All the
igure 2 will complete the
a definite sequence
igure 5.
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1. (39) Each number starting from 3 clockwise ig doub]e@ In th? other
but less than one, two, three and so on. The last 7€, oth item will 27,
2=H4.44 - 5+ 39, |

2. (35) Each number starting from 4 increases with I, 2, 4, 8 and |
Thus, in the vacant space, the number will be 35. :

3. (8) The numbers opposite to each other are double than the ope

another: ‘

ilar]

btracted fr i the p oduct. ws, 17
6. (39) Each number beginning with 3 is doubled in the preceding one,
- but less than one, two, three, four and so on. Hence, 22 x 2 =44 -5+

to each other are squares of one another. Thus,

3,5,7ie., 9,25
in the upper half of th
O 6 and 64. Thus,

; ﬁ'ar_e, of

cCu .VQ ICtter Oppositc

P
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(26) A dd the number of the top and bottom and then subtract the

16 gumber at right and left. Thus, 24 + 42 = 66 - 18 - 22 =26
i, (22) The above item of the square 1s multiplying both the downward
i #tems and dividing it by 2. Thus; the volume of P 1s 22.

1

12. (52) The each item in figure second is half of the items given in first
figure whereas the items are double in figure three. Thus, 26 x 2 =35

13. (97) Go around the figure. Double it and substract one from the
product. 4 2-1=7,772-1=13,13 2 -1=125,25 2 1=49,
49 x 2 — 1 = 97. Thus, answer 1s 97

14. (7) Adding the above two numbers and the sum 1s divided by 3. Thus,
16+5=21+3=7.

15. (78) When A = 88, C = 84 and D = 82, means for each subsequent
English letter deduct two from it. Thus, for F = 78.

(25) All the three figures in a square are made up by taking one of the
pber, squaring it and dividing by 2 will be equivalent to  the product
her two.nu bers.'ﬂlus,half of (32) 5012 which is.eguivalent to
w 32 Half of [48Y° = 1152 is equivalen: o thé
. -Sifatlarly, halfsofa(40)” =800 which is the
encegthe missing itém is.2 5. .
 RAAEREEA S Rk




EXERCISE — 2

Direction: Which of the six numbered figure given below the probley,
| figures fits into the vacant squarc or question mark.

g
Problem Figures Answer Figures

&% 1A
~
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gures
problem Fig Answer Figures
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Problem Figures

Answer Figures
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Protitem Figures
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. Answers Figures
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8. Problem Figures
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EXERCISE - 3

: The following probiem ﬁgUTC< themselves are 4
;_un.s Out of the five figures 1, 2, 3, 4, 5 for are S]m«‘llso the
O“C figure is not hike the other four. Choose lh:: atrlgI: :

re

t from the rest:-

e e







up-to-date Super Intelligence es

{;‘r s




@__mes Unsque up to-date Super l%

15.
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SERIES - EXERCISE

tions:
" rhere @re two sets of figures. One set is called problem figures
. cct is called answer figures. Problem set figures form some kind
;* .os. What you have to do 1s to select one figure from the answer

‘hich will continue the same series as given in the problem

Problem Figures
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_ lem Figures
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Problem Figures
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Problem Figures
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Problem Figures

l
l
l

(ﬁi Y LCJ

Answerfgures
plo[olols
A B ,,__C — . Y EECE e

Problem Figures

W (b 5. (b) 0. ()
Sy () % (8)
aatl?, (2) 18. )
‘ 3 (5) 4. (1) |




w, Dogar's Unique u vfo-date Super Intelligence Teggs ‘

O e . ;

ANALOGIES - EXERCISE |

¥

R . 1~finite rels ) :

‘\\H'\Hull\ In the ;\lu?;f(-y;. figures, there 15 @ definite 1 ([‘””’T;\f;]p nctwccn | t.

| | ween figures C and D ‘ . |

. Lstablish the ssmilar relationship hetween by gh()‘mnku,tg;\ |
e »

figures from the set of answer HEUTE 4 sy,

problem Figure
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Answer Figure
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EXERCISE '

Directions: There are two sets of figures. One set is called problem ﬁgUres oth
set 1S galled answer figurcs. Select one figure from the answer set which can be tép\ac:i

for the blank square or question mark.

Problem Figure
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